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Abstract: The “Enumeration of All Extreme Equilibria of Bimatrix Games” algorithm
of Audet et al. (2001) uses the best response condition of Nash Equilibria to create a
search tree in which pure strategies are forced to be either a best response or played
with zero probability. Finding sets of constraints with no feasible solution allows the
algorithm to avoid searching all game supports and thereby speeds the enumeration
process. This paper presents two new improvements to the EEE algorithm. First, the
algorithm is implemented in Java using only integer arithmetic, as opposed to previous
implementation using floating-point arithmetic. This exact solution of linear programs
for the algorithm avoids potential rounding errors. Preliminary running time results of
this implementation, determining the relative efficacy of objective functions for the lin-
ear program search, and a comparison to another enumeration algorithm are reported.
Second, the degeneracy check is improved, drastically cutting running time for certain
classes of games and making the algorithm theoretically clearer. The new approach
introduces constraints until the feasible set consists of only one strategy or is empty.
The combination of these two improvements increases EEE’s usefulness as a tool for

bimatrix game solution.
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1 Bimatrix Games and Nash Equilibria

A bimatrix game is a two-player, normal-form game in which the matrices A and B
hold the payoffs to players I and II, respectively. In a normal-form game, each player
simultaneously chooses an action either deterministically (a pure strategy) or through
a probability distribution over all possible actions (a mixed strategy). Payoffs are de-
scribed by a matrix for each player in which the entry at position (i, ) is the payoff
when Player I chooses action i and Player II chooses action j. Player I's pure strate-
gies are represented by the rows of the matrix and Player II's by the columns; the pure
strategies of Player I are described as belonging to the set M = 1, 2,...m and those of
Player II as belonging to the set N = 1,2,...n. The sets M and N need not be of equal
size but, by definition of the payoff structure, both matrices A and B must be of the
same size.

Player I's choice of strategy, pure or mixed, can be described as a probability vector
over the elements of M; the space of all such probability vectors is denoted X and any
particular vector as an x € X. A pure strategy is an x € X such that one element of
x has value 1 and the rest have value 0. Similarly, Player II's space of strategy vectors
is denoted Y with any particular choice y € Y. Both x and y are denoted as column
vectors; the former of size m x 1 and the latter of size n x 1.

The choice of a particular x € X for Player I and y € Y for Player II defines an
expected payoff for each of the players. Player I chooses a pure strategy in M based
on the probabilities assigned in x, Player II chooses a pure strategy in N based on
the probabilities assigned in y. While the actual payoff to Player I is an element of
A and that to Player II is the corresponding element of B, the expected payoff is the
weighted average of the payoffs of all possible outcomes, based on the probability of
occurring. The probability of any particular payoff A;; to Player I is just the probability
that Player I plays i and Player Il plays j: x;y;. Therefore, the expected payoff to Player
I is the probability of each payoff occurring multiplied by its value, or x " Ay. Player
II’s expected payoff is x ' By.

In all the bimatrix games that follow, the assumption is made that each player seeks
to maximize his or her own expected payoff without regard to the other player’s ex-
pected payoff. Both agents are risk-neutral. The payoffs in the matrices are meant
to already reflect any risk preferences the players may have over the payoffs. Much
of this description of bimatrix games and Nash Equilibria follows the survey by von
Stengel (2002).

A Nash Equilibrium (NE) is a pair of strategies for which both players maximize
expected payoff given the strategy of the other player. An NE in a bimatrix game is a
pair of strategies (x*,y*) such that no other x € X provides a higher expected payoff



for Player I than x* given that Player II's strategy is y*, and no y € Y provides a higher
expected payoff for than y* for Player II given that Player I's strategy is x*. Given the
strategy of the other player neither wishes to change his strategy. Nash proved that
every bimatrix game has at least one such equilibrium.

Nash Equilibria may share a strategy of either Player I or II while the strategy of
the other player varies. Given NE pairs (£,7) and (£,7’), all linear combinations of
the form (£,a + (1 —a)§’) Va € [0,1] are also NE. These equilibria are known as
degenerate equilibria; bimatrix games containing degenerate equilibria are referred to
as degenerate games.

Determining whether a point is a NE is easy and requires only checking what is
known as the best response condition: at a NE, the distributions x* and y* must play
with non-zero probability only those pure strategies which are best responses to the
other player’s mixed strategy. A given y* determines Player I's payoff vector Ay*. Each
entry (Ay*); is the payoff to Player I of choosing strategy i € M. Any probability Player
I places on a strategy corresponding to a non-maximal element of Ay* could be used to
further increase the expected payoff through a shift to a best response. More formally,
the best response condition states that (x*,y*) is a Nash Equilibrium if and only if
x; > 0 implies that i = arg %%((Ay*)i and y; > 0 implies that j = argI}é?\;((x*TB)j for
alli€e Mandj € N.

The best response condition of NE can also be described as a set of equations that
must hold for a pair of strategies (x*,y*) to be a NE. Define « to be the maximum
payoff to Player I given y (the maximum of the vector Ay) and B to be the maximum
payoff to Player II given x (maximum of the vector x ' B). Then, since each strategy
must be either played with zero probability or be a best response to the other player’s
strategy, each i € M and j € N must satisfy the equations x;(« — (Ay);) = 0 or y;(B —
(x*TB) j) = 0, respectively.

1.1 Linear Programming

A player’s best response to the chosen strategy of the other player is the vector x € X
or y € Y that maximizes his expected payoff. As such, computing a best response falls
into a class of problems known as linear programs; a linear program seeks to maximize
a given linear function of variables subject to a number of linear constraints on those
variables. This discussion of linear programming follows Chvétal’s well-known 1983
text, incorporating bimatrix game issues from von Stengel’s survey. Given 1 x k vectors
f and b of constants and a ¢ x k constraint matrix C, a linear program is the problem
of maximizing the product z = f - v subject to C - v < b by choosing a k x 1 vector v.
The function z is called the objective function and any vector v that satisfies C-v < b



is said to be a feasible solution of the linear program. A solution to the linear program
is a feasible solution that maximizes the objective function.

Calculating a best response corresponds to solving the linear program whose ob-
jective function is the expected payoff and whose constraint is that the variables are
nonnegative and sum to 1. For Player I, the linear program is

maxz = x Ay
st. x-1=1
x;>0VieM

and similarly for Player II

maxz = x' By
y

st. 1-y=1
y]'ZO Vj € N.

where 1 is a row vector of ones such that the product involved is scalar.

At a Nash Equilibrium, both players must play best responses to each others’ strate-
gies; the vector y used in Player I's objective function must be the solution to Player
IT’s linear program and vice versa.

Consider the linear program

max z = 7x1 + 3xp

X1,X2

s.t. 3x1+x <11
X1 +2x <7
x1,x >0

This can be easily altered to equality form in the constraints by introducing two slack
variables, r; and r,, which take a value such that the two numerical constraints are
tight. Following the convention of placing all variables on one side of the equation,
subtract the objective function from z and require that it equal 0; in essence the goal is

to maximize z subject to minimizing the opposite of the sum of the variables.

max z = 7x1 + 3xp
X1,X2

st. 3x1+x+r <11
X1+2x 41 <7
X1,X2,71,12 > 0

min —7X1 - 3x2
X1,X2

s.t. 3x14+x+r; <11
X1 +2x+1 <7
X1,%2,71,172 2 0



Representing this system in matrix form yields

max (1 -7 =30 O)(z X1 X2 1 Tz)T

X1,X2,71,12

st 3110 < >T 11
.t X X T T =
1201 vAz n 2 7

It is usual to concatenate this into a tableau, of which one type is of the form

(5)

where C is the coefficients of the C matrix, b is the vector of constants, f is the coeffi-
cients of the objective function, and z is the value of the objective function (f - x for the

particular values of x in question. Here, this matrix is initially

The solution of linear programs involves a partition of the choice variables v into
those that can take non-zero values, known as the basis, and those which are set to
zero, known as the cobasis. Each constraint is expressed such that each basic variable
is present in one, and only one, row of the tableau. As a result, the cobasic variables
serve as a representation of the basic variables. With this formulation the value of any
basic variable is just the value of b in that column, which is the maximum value that
the variable can take and still have the constraint satisfied.

It follows that the basic variables constitute an identity submatrix of the tableau. In
the example above, the rows corresponding to 71 and r; are an identity matrix; thus the
basis here is 1 and r,. The variables x; and x;, constitute the cobasis.

The simplex algorithm solves linear programming problems by pivoting elements
between the basis and cobasis in an attempt to maximize the given function. At each
step, the algorithm chooses the member of the cobasis that can contribute most to the
objective function, the variable with largest (in absolute value) negative coefficient in
the objective function row of the tableau. The variable to exit the basis is chosen by
determining the strictest bound on the value of that variable; this minimum ratio test
is meant to ensure that pivoting does not render a choice of v which is infeasible. The
tableau is renormalized to assure the basis constitutes an identity submatrix. The algo-

rithm repeats until there are no positive coefficients left in the objective function row;



at this point making the value of any cobasic variable non-zero (i.e. moving it into the
basis) would result in a lower value of the objective function. Thus, a maximum has
been reached.

An important theorem in linear programming, the duality theorem, involves solv-
ing a linear program by minimizing an upper bound on its objective function. Recall
the original form of the linear program from above

max z = 7x7 + 3x»

x1,%2

s.t. 3x1+2x <11
X1 +2x <7
X1, X2 > 0.

Adding twice the first constraint to the second constraint, yields
7x1 +4xy <29 — z =7x1+3xp <29

which provides an upper bound on the objective function. The duality theorem states
that minimizing such an upper bound yields the same result as maximizing the func-
tion. The dual of the original linear program is the problem of minimizing this upper
bound. The constraints now require that the linear combination of the constraints has
each coefficient greater than or equal to the coefficient in the objective function.

The minimized upper bound can be interpreted as the payoff to a player in a bi-
matrix game, given the formulation of the game in linear programming form. For the
remainder of the paper, x will denote the dual variable for Player I (his payoff) while 8
will denote that for Player II (her payoff).

1.2 Nash Equilibria - Geometrically

While Nash Equilibria are often considered in the algebraic context discussed above,
much attention has been recently given to its geometric interpretation (see von Sten-
gel, 2002). A player choosing a probability distribution over i pure strategies chooses
a point in i dimensional space subject to the constraint that the sum of the coordinates
is 1. As a result, he can choose any point on a 1 — 1 dimensional closed set (a polytope)
within R". Player I, in a normal form game, chooses a point y € Y on a # — 1 dimen-
sional polytope in R". The set Y is this n — 1 dimensional polytope; it is the union of all
points in R" such that the sum of the coordinates is exactly one. For every such point
y € Y, each pure strategy i € M has a determined payoff, which is (Ay);. The pure
strategies with the highest such payoffs are the best responses to y.

Best response diagrams are often employed in the geometric view of bimatrix games



0 < p(r) > 1 0 « p(B) > 1

Figure 1: Best response diagrams for Player I (left) and Player II (right)

of small dimension. Consider the bimatrix game

-(23) - (22)

where Player I's strategies are T (top) and B (bottom) and Player II's strategies are [
(left) and r (right). Player I's payoffs from playing T or B can be plotted against Player
II’s strategy y € Y, which is determined by a single value p, the probability of playing
the strategy r. Player II's choice lies along a line segment from p = 0 to p = 1. The
payoff to Player I's pure strategy T varies linearly from Aj; to Ay as p changes from 0
to 1, and is therefore a line segment in R?. The same is true for the bottom strategy. The
left plot in Figure 1 results, in which the dark gray line segments represent Player II's
pure strategies p = 0 and p = 1, while the light gray line segments represent Player I's
pure strategies T and B.

Given any particular choice of y, Player I should choose to play only those pure
strategies that provide the highest payoff. This is a restatement of the best response
condition. The geometric realization of the best response condition is the n — 1 dimen-
sional “upper envelope,” which in a 2 x 2 game is the union of all line segments that
are above all other line segments. In Figure 1, the upper envelope consists of the solid
light gray and dark gray line segments; the points on the best response curve for B
from p = 0to p = 3, and of the points on the best response curve for T from p = 1 to
p = 1 along with the points corresponding to p = 0 and p = 1.

Since the upper envelope is the maximal payoff for any pure strategy x given a
strategy y of Player II, it is the value of &, the dual variable in the linear programming
solution for best responses. Given a specific y, using the simplex method to find the
value of « is equivalent to finding the point on the upper envelope corresponding to



y. This is perhaps a more intuitive explanation of how using the dual variable as the
objective function helps solve for a player’s best response given the strategy of the
other player.

By the best response condition, NE only exist on the upper envelope, as any point
on a best response curve below the upper envelope is suboptimal. One implication is
that any mixed equilibrium is a mix of two strategies that intersect to make a point on
the upper envelope. In Figure 1, a mixed strategy is only possible (but not necessarily
present) in a NE where p = 3. At any other value of p, one strategy is better than
the other, and therefore that strategy must be played with probability 1. The right plot
in Figure 1 is the best response diagram for Player II's choice of I or r as Player I's
probability of playing B changes from g = 0 to g4 = 1. The only possible mixed strategy
1)

Nash Equilibria, in the geometric approach, are pairs of points at which every strat-

for x in equilibrium is at the point where x = (

egyi € Morj € N is either a best response to the strategy of the other player or is
played with zero probability. A strategy is a best response where the point chosen on
the player’s best response diagram is on the portion of the upper envelope comprised
by that strategy. A strategy is played with zero probability where the point chosen on
the other player’s best response diagram is on the polytope where that strategy’s prob-
ability is zero; in these 2 x 2 games these are the p = 0, p = 1,4 = 0, and g = 1 line
segments parallel to the y-axis. Thus, for a pair of points to be a NE, every strategy
i € Mand j € N must fulfill the best response condition in one diagram or the other.
In Figure 2, the best response condition is fulfilled for i = 2 and j = 1 in the left plot as
the point is on the segment p(y;) = 0 and the portion of the response curve for x, on
the upper envelope. In the right plot, the best response condition is fulfilled fori =1
and j = 2 where p(x1) = 0 and y; is a best response to x. Since all 4 best response
conditions are true for this set of points, it is a Nash Equilibrium.

The conventional way, as discussed in von Stengel (2002) referencing the work of
Shapley, to represent such diagrams is by labeling each polytope with a strategy num-
ber. A certain point is labeled with i € M if that point is either on the upper envelope
of the best response curve comprised by i in Player I's best response diagram, or if i
is played with zero probability in Player II's best response diagram. The strategies are
often labeled continuously, so Player I's strategies are labeled U and [ while Player
II’s are labeled [0 and O .

A pair of points is a NE if it is completely labeled, that is it has all labels i € M and
j € N. This is just a restatement of the linear complementarity condition; a completely
labeled pair of points has either x; = 0/y; = 0 or a = (Ay);/p = (x'B); foralli € M
and j € N. This allows identification of Nash Equilibrium points by inspection for 2 x

2 games. In Figure 3, the three pairs of same-colored points are Nash Equilibria.



Figure 2: A Nash Equilibrium

0 p(r) 1 0« P(B) > 1

Figure 3: A labeled best response diagram and its three Nash Equilibria



2 The EEE Algorithm

The best response condition and its geometric analog provide an easy way of deter-
mining whether a given pair of strategies is a Nash Equilibrium of a bimatrix game.
Finding NE given the game remains a more difficult problem. A variety of algorithms
have been developed to solve problems in this vein. To find one NE of a given bima-
trix game, the Lemke-Howson algorithm is often employed. This algorithm relaxes the
best response condition for one pure strategy and searches the feasible set of points un-
til that condition is once again satisfied. In its geometric form, the algorithm begins at
the completely labeled (but non equilibrium) point where all strategies are played with
zero probability. Allowing one strategy’s label to be missing allows movement along
the best-response polytope, and at each vertex some label is doubly introduced. Mov-
ing away from the double label provides a path that provably ends with the originally
dropped label being reintroduced, thus landing at a Nash Equilibrium. The survey by
von Stengel (2002) provides a more thorough introduction to Lemke-Howson.

The Lemke-Howson algorithm only finds one NE of a bimatrix game; however in
many cases the question of enumerating all NE is relevant. Several algorithms have
been proposed for solving this problem; it remains very much an active area of com-
putational game theory. In particular, these algorithms attempt to find all extreme
equilibria, which are all Nash Equilibria that are non-degenerate and the endpoints of
degenerate equilibria. With such a set of extreme equilibria, all equilibria are described
explicitly in the set or as a convex combination of interchangable extreme equilibria
(see von Stengel (2002), Theorem 2.14). The equilibrium pair (x,y) and (x/,y’) are in-
terchangable if and only if (x,y") and (x’,y) are also equilibria; that is the equilibrium
strategies within the set can be interchanged to form equilibria.

One enumeration algorithm uses polytope theory to enumerate all vertices of the
best response polyhedra and then matches up vertices that together form the full set
of best response labels. This algorithm has been implemented by Savani and a more
recent version by Avis using Avis’ (lexicographic reverse search) algorithm (2005) and
will here be referred to as the LRS algorithm, though it should be clear that the LRS
algorithm here refers to Avis’ implementation incorporating both the lexicographic
reverse search program and the equilibrium enumeration. Its efficiency in solving for
all Nash Equilibria will be discussed later.

A 2001 paper by Audet, Hansen, Jaumard, and Savard provides a different ap-
proach to the problem of enumerating all NE in a bimatrix game. Their algorithm
employs the best response condition of Nash Equilibria to restrict the set of possible
x € X and y € Y until the only ones remaining are NE. Recall that for every i € M,
the best response condition states that x;(« — (Ay);) = 0, and therefore either x; = 0 or



« = (Ay);. Similarly, for every j € N eithery; = 0or p = (x" B);. Ata NE, both players
play only best responses (x = (Ay); or = (x' B);) to the others’ move with positive
probability. If a pure strategy is not a best response, it is played with zero probability
(xi =0or ]/] = 0).

The EEE algorithm chooses some i € M or j € N and explores the implications
of setting that to be a best response (x = (Ay); or p = (x'B);) or forcing it to be an
unplayed strategy (x; = 0 or y; = 0). If the action of forcing these conditions does not
exclude all possible solutions, another i or j is chosen and the process is repeated. Once
all m + n best response conditions are fulfilled, any point (x,y) that is still feasible is
a NE. In essence, the algorithm chooses a given strategy and explores the hypothetical
possibility that the strategy is a best response and separately the hypothetical possi-
bility that the strategy is played with zero probability. Impossibilities are removed by
checking for feasibility.

Treating the search for NE as a set of linear programs, the algorithm checks whether
imposing certain strict equalities makes the linear program infeasible. For example, if
x1 is set to 0 to ensure that x1 (¢ — (Ay)1) = 0, a check must be performed to determine
whether there exists a feasible solution to a linear program described by the constraints

Z xi=1,a > (Ay);, x1 = 0. Ina 2 x 2 game, forcing both x; and x; to equal 0 leaves
lrfc])vI teasible solution, since the probability constraint x; + xp = 1 cannot be satisfied
when x; = xp, = 0.

The Audet et al. paper employs two linear programs, each of which incorporates
aspects of both Player I's strategy and Player II's strategy. In particular let the two
linear programs P and Q be defined by

P(x|ly) = ma[é(xTAy —B Qylx) = I}r/la&(xTBy —u
x, 7
s.t. xi=1 s.t. yi=1
ig/l ! and jeZN ]
B> (x"B);, VjeN a> (Ay);, Yie M
x; >0, VieM y; >0, Vj € N.

Eachi € M and j € N corresponds to one constraint in P(x|y) and one constraint
in Q(y|x). Fori € M the P constraint is a constraint on the probability (x; > 0) while
for j € N it is a payoff constraint (x > (Ay);). Similarly, the Q constraint for i € M is
a constraint on the payoff (8 > (x'B) j) while for j € N it is a probability constraint
(yj = 0). It follows from the earlier discussion of best response constraints that an NE
results from searching the feasible domains of these linear programs only if for each
i € M either P(x|y) is constrained to force x; = 0 or Q(y|x) is constrained to force
a = (Ay);, and correspondingly for all j € N. The algorithm chooses, for each feasible

10



node, a pure strategy i or j which has not yet been forced to satisfy the best response
constraint. The node then creates two children, one in which the inequality in P is
made into an equality, and one in which the inequality in Q is made into an equality.

The algorithm starts with the linear programs P and Q from above each being con-
strained solely by their m + n inequalities. For each node at depth d < m 4 n, there are
m +n — d best response conditions that are not yet forced. Any one of these m +n —d
unforced strategies can be tightened in a child node. The authors define a vector of
size m + n where all already forced components have value —1 and the unforced com-
ponents have value x;(« — (Ay);) for i € M and y;(8 — (xB);) for j € N. These values
are simply the complementary slackness, a measure of how far the product is from the
value it must take, 0. The variable corresponding to the largest such value is chosen
and the tree branches off in two directions; in one, the variable is forced via its prob-
ability constraint and in the other by its best response constraint. Once the depth has
reached m + n, feasibility implies that the branch of the tree being followed (strategy
1 is a best response, strategy 2 should be played with probability zero, etc.) defines a
NE, since all best response conditions are fulfilled.

If a node is not feasible, it and its potential children cannot be NE and therefore
it can be abandoned. This allows the algorithm to avoid searching all 2" possible
combinations of best-response/zero-probability pairs in most cases. Once the depth
has reached m + n, all remaining nodes at that level are feasible values of x and y for
which the best response conditions are all satisfied - therefore they are all NE.

In addition, there are a number of subproblems that may also be NE. By level
d = m + n, all strategies are forced to be either a best response or played with zero
probability. However, it is possible that a strategy is both a best response and played
with zero probability in the case of degeneracies. In a Nash Equilibrium, a strategy
must be a best response or played with zero probability, but those that are best re-
sponses also can be played with zero probability, provided there exists more than one.
It is particularly all the inequalities that can still be tightened after the first m + n steps.
Every one of these that is found to be feasible is a NE, and its children are derived in
the same way until there are no more nodes to look at in the queue. This “polychoto-
mous branching” follows the “dichotomous branching” of the earlier steps (Audet et
al. terminology).

Figure 4 shows a subset of a possible tree for a generic 2 x 2 game. The node num-
bered v is obtained by setting both x; and y; to 0. The algorithm chooses i = 2 as the
next forced variable, and creates node v + 1. In this particular tree, that node is feasible.
Its first child, created by forcing y» = 0 is not; if y; = y» = 0 then y; +y» # 1. The
right child of v + 1, node v + 3, introduces the best response constraint for j = 2 by

setting B = (x ' B),. For this particular tree, the node is a Nash Equilibrium. The four

11



Figure 4: A possible subtree of a 2 x 2 game with x; =y; =0

branches emanating from v + 3 represent the polychotomous branching step. After
all polychotomous branches reach infeasibility (there are no new Nash Equilibria since
this is a generic game) the algorithm backtracks to the right child of v, node v + 8. Since
x1 = X2 = 0 implies x; + x2 # 1, node v + 8 is infeasible and the subtree is finished.
The feasible set does not increase as the inequalities are forced. Either the set re-
mains the same size, as in the case where a variable already equal to 0 is forced to
be 0, or it decreases in size. The linear program is infeasible, at the very latest, at the
point where all strategies for one player are forced to be played with zero probability.
It is clear that all non-degenerate equilibria are found since all feasible combinations of
played strategies (supports) are considered. Finding all extreme points of degenerate

equilibria is trickier, and will be discussed more thoroughly in Section 6.

3 EEE Geometrically

While the authors describe the EEE algorithm using the algebraic equations of the best
response conditions, the geometric discussion of Nash Equilibria presented earlier is
enlightening. By requiring a variable i € M to satisfy x; = 0 or « = (Ay);, the EEE
algorithm introduces the a new label each time the tree splits. The label is the same
in both branches but is derived in the opposite best response diagram. In one branch,
the label is added by restricting the space of possible equilibria to the polytope x; = 0
in P(x|y). In the other, it is added by restricting the space of possible equilibria to
the polytope & = (Ay); in Q(y|x), which is the portion of the larger dimensional best-
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response polytope where the payoff to i is greater or equal to the payoff from any other
pure strategy. The reverse holds for all j € N. As a result, when m + n distinct labels
have been added, the remaining polytope is an extreme NE as it is guaranteed to have
all m 4 n labels. Infeasible solutions occur for a given linear program P or Q when the
restrictions on the polytopes are such that no points fulfill all the requirements.

The algorithm works with two sets of points, P and Q, which are the feasible solu-
tions to linear programs P and Q respectively. At each step, a restriction is placed on
the elements of P or Q and the algorithm terminates if that set becomes empty. The
sets P and Q, at depth d, are of the form

A

8
P=L«(f(k)) and Q= () Ly(f(p))
k=0

where ¢ +h = d, and the set Ly(f(i)) is the set of all points with label f(k). The
initial constraints L, (0) and L,(0) maintain that the sum of the probabilities must be
1 and that the point must be on the upper envelope. The latter of these requirements
is enforced by the linear programming objective functions, which for this example will
be P(x|y) = n;ell}x —Band Q(y|x) = nylix —u. These objective functions find the lowest

point on the feasible portion of the upper envelope.
Figure 5 shows the algorithm initialization for the 2 x 2 game from Section 1.2

-(22) »=(22)

Q is solved first. The vector x is set to (1,0), and y looks for the lowest point on the
upper envelope (because of the form of the objective function), arriving at y = (1,0).
When P is solved, x = (3, ;). This completes the linear program processing of the first
node.

The second node (Node 1) is obtained by requiring that « = (Ay)1, meaning that
Player I's first strategy is a best response. This, in effect, reduces the possibilities for
Player II's strategies to those in which Player I's first pure strategy has a payoff greater
than or equal to that of his second pure strategy. Graphically, the points in Q must be
on the portion of the first pure strategy response curve where that curve constitutes the
upper envelope. In Figure 6, the feasible region is the bolded line. Alternatively, the
feasible region consists of all points in Q that have label [ . After linear programming

pivoting, y = (%, %) as this is the lowest point on the upper envelope for x. Player

I's response remains unchanged, as x = (%, }1) remains the minimization point on the
upper envelope of Player II.

The first node at depth 2 (Figure 7) results from adding the requirement that & =

13
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Figure 5: Node 0, Depth =0

1@

Figure 6: Node 1, Depth =1
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0 < p(r) > 1 0« p(B) > 1

!@

0 < p(r) > 1 0 « p(B) > 1

Figure 8: Node 3, Depth = 3

(Ay),. All points in the set Q must be on both best response curves for Player I as

well as on the upper envelope. Only one point, y = (%, %) satisfies these criteria. I's

response remains unchanged; x = (3, 1). Label [ has now been introduced.

The set P is first restricted in the Node 3. Requiring that B = (x' B); means that
all points in the feasible set must be on the best response curve for Player II's left
move. Figure 8 incorporates this restriction. The lowest point on I's best response
curve remains x = (3, 1). As Q is unchanged and consists of only one point, y = (3, 1).
P now consists of all best response points with label [ .

The fifth node (Node 4) is the first in which every variablei € M and j € N is forced
to obey the best response condition, meaning that introducing the label I means that
all 4 labels are present, and any feasible point is an extreme Nash Equilibrium. The final
restriction is that = (x " B),. Only one point has both labels 0 and 0, x = (3, 1). The
resulting pair x = (3,1), ¥y = (3,3) is guaranteed to be a Nash Equilibrium because
it is a completely labeled set of points, one that results from a forced best response
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0 < p(r) > 1 0 « p(B) > 1

B 0

0 < p(r) > 1 0 « p(B) > 1

Figure 10: Node 9: An infeasible node.

situation for alli € Mand j € N.

Since all the branching steps followed to achieve this particular Nash Equilibrium
employed best responses rather than unplayed strategies, the polychotomous branch-
ing steps will only force variables to be played with zero probability. Since any single
such restriction makes either P or Q empty, this particular branch of the tree terminates
at the next level.

As the algorithm employs a depth first search, the next node to check is that which
is a sibling of the NE node. As the NE node was obtained by forcing a = (Ay),,
its sibling is obtained by confirming the label U in the other manner, namely setting
y2 = 0. Figure 10 results. Note that there is no point in the left plot that satisfies all
three criteria; the intersection of the best response curves for top and bottom, along
with the line segment y, = 0 is empty.

Node 9 is therefore a leaf; the sequence terminates. It is finding these infeasible
points that make the algorithm terminate. Finding infeasible points high in the tree
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0« (1) -1 0« p(B) -1

Figure 11: Best response curves for a degenerate game

decreases the number of nodes to explore and thus a good method of choosing which
conditions to impose on P and Q is important for the speed of the algorithm.

Degeneracies occur when points on the best response curves for a specific player
have more labels than the number of dimensions in which it is plotted (number of
strategies for the other player). The extra label provides an extra degree of freedom on
the other best response diagram; rather than requiring some number [ of labels, only
I — 1 are required. Since there can be a continuum of points with a specific label, all
points on this continuum are NE. Consider Figure 11. Since labels [J , 0 , and O are
acquired by the point in the left plot, Player I in the right plot can choose any point
along the black line segment consisting of the points labeled [ that are on the upper
envelope. As the linear programming procedure finds the lowest point on the best
response curve, the extreme equilibrium in Figure 12 is discovered. At another point,
the degeneracy in the left diagram is not used and label [ is acquired by setting x, = 0.
This constrains the set P to the single equilibrium point in 13. As a result, both extreme
equilibria are found. Since y is the same in both cases, any linear combination of the
two points is a Nash Equilibrium. Thus, all points on the yellow line segment in 11 are
identified by the algorithm.

It is possible that, given certain degenerate games, not all extreme equilibria are
found in the first m + n levels of the search tree. An example where this is the case will

be provided in Section 6.
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Figure 12: First endpoint of the degenerate equilibrium

©

0 p(r) 1 0 < p(B)

Figure 13: Second endpoint of the degenerate equilibrium
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4 Integer Pivoting

The previously available implementation of the EEE algorithm uses a commercially
available library (CPLEX) to solve the linear programs present in each step of the al-
gorithm with the standard simplex method. This employs division at each step in the
algorithm, with no guarantee that the results will be integers. As a result, floating-
point numbers must be used in the implementation. In many cases, performing this
division as part of the pivot step is sufficient.

The storage of floating-point numbers by a computer necessitates some rounding;
regardless of the base used to store a number, there exist some rational numbers that
cannot be expressed as a single number in a finite number of digits. Representing % asa
decimal point followed by 100 sixes may be close to % and may suit most computations
well, but it is not exact.

Since all strategies that provide a player with a less than maximal payoff are played
with probability zero, it is crucial that an algorithm be able to distinguish between
even minuscule differences in payoffs. In large bimatrix games, small rounding errors
due to the use of floating-point numbers may well add up over the course of the large
number of pivot steps needed to solve a large linear program. As a result, a more exact
method of solving the linear programs for these problems is necessary.

One known solution to the above problem is avoiding division resulting in non-
integral values. This practice, known as integer pivoting, is a variation on the standard
simplex algorithm, where it is generally attributed to Edmonds. Azulay and Pique
(2001) describe a version of the technique and provide several historical references.

Recall the linear program from 1.1

max z = 7x1 + 3x»
X1,X2

s.t. 3x1+2x <11
X1+ 2x <7
X1, X2 >0

and its tableau representation

1 2
-7 =3

The first step of the integer pivoting procedure selects the variables to enter and exit
the basis in the same way as the original pivot procedure. The variable with largest (in

absolute value) negative coefficient in the objective function, here x1, is chosen to enter
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the basis. There are two bounds on x; to ensure non-negativity of the variables

Constraint 1 — 3x; <11 — x <1
Constraint2 - x1<7— x1 <7.

As the first bound is more restrictive, r; (the basis variable corresponding to the first
row) exits the basis while x; enters.

The first step in the pivot procedure is multiplication by the pivot element, the
intersection of the pivot row and the pivot column, of all non-pivot rows. This is the
coefficient of the variable entering the basis in the row where it will enter. Here this

corresponds to the first element of the tableau; multiplying yields

-21 -9 0 0 O

As x1 is meant to enter the tableau, the column corresponding to x; must take the
form of a column of the identity matrix, namely all elements except the pivot element
must be zero. To accomplish this, a multiple of the pivot row is subtracted from each
other row such that the element in the pivot column is zero. Subtracting the first row

from the second row and 7 times the first row from the objective (third) row yields

31 1 011
0 5 -1 3 10
o -2 7 077

At this point the basis columns constitute a multiple of the identity matrix. x; and
2 now constitute the basis. The entire tableau is thus triple the value it would take in
the normal simplex algorithm. x; now takes the value 13—1, and the vector (x1, xp,71,72)
is (%, 0,0, %) The value of the objective function has increased from 0 to %7

The key to the integer pivoting algorithm is that the basis is allowed to remain
a multiple of the identity matrix rather than the identity matrix itself. The multiple,
which results from the multiplication pivot step, is a single value by which all of the
elements of the b vector must be ultimately divided. Delaying this division, however,
allows all values to remain integral.

In the next pivot step, x; enters the basis while r, exits. Multiplying by the pivot

element yields
5 5 5 0 55

0 5 -1 3 10
0 —-10 35 0 385
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and subtraction to ensure the basis is a multiple of the identity matrix results in

15 0 6 -3 45
0 5 -1 3 10
0 0 45 0 405

Note that the non-pivot rows, the first and third, are both divisible by 3, which happens
to be the pivot element of the previous step. This is not accidental; it occurs at each step
in the pivoting procedure. Division by the previous multiple allows the elements of the
tableau to stay of reasonable size. Division by 3 of these two rows yields

50 2 -1 15
05 -1 3 10
00 15 0 135

There remain no positive coefficients in the objective function. The function thus
takes its maximum value at % = 27 with the vector (x1, xp,71,72) at (3,2,0,0). While
these values happen to be integral, non-integral values at this point can be represented

in fractional form, i.e. if the tableau had read

70 2 -1 15
07 -1 3 10
0 0 15 0 135

the vector (x1, xp,71,12) would read (%, %, 0,0). Storing in such a way allows compu-

tation of the solutions for the linear program exactly.

To recap, given a linear program in a tableau with a feasible basic solution, integer
pivoting is accomplished by

1. Determining the element to enter the basis

Determining the element to leave the basis (using the minimum ratio test)

Multiplying all rows other than the pivot row by the pivot element

L

Subtracting a multiple of the pivot row from each other row so that the non-pivot
rows equal 0 in the pivot column

5. Dividing all rows other than the pivot row by the multiple of the identity matrix
from the previous step

6. Repeating steps 1-5 while at least one coefficient in the objective function is neg-
ative
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The result will be the optimal solution, multiplied by an integer number which is
the multiple of the identity matrix used in the last step. Dividing by this multiple
yields the appropriate result.

4.1 Proof of Divisibility

The claim that each non-pivot row is divisible by the pivot element of the previous
step is not immediately obvious. It is necessary to prove that in each iteration of the
integer pivoting simplex algorithm, all elements in non-pivot rows are divisible by the
previous multiple after the subtraction of pivot row multiples step. In addition, the
value resulting from this division must be the same as the value of the current pivot
element, as to make a multiple of the identity matrix. What follows is a description of
how this works; readers wishing a more formal view involving determinants should
see Azulay and Pique (2001).

Let the basis start as an identity matrix and the first pivot element be a,;. The pivot
row is r and the pivot column is s. The first step in the integer pivoting procedure is to
multiply each row other than the pivot row by the pivot element. This corresponds to
the rule

ajj — Ays@ij 1F T
aj —ayj  i=71
Then, a multiple of the pivot row is subtracted from each other row to make the ele-
ment in the pivot column zero. The appropriate multiple is ai;—i” = a;s since, in column
s for rows i # r, this yields a;ja,s — a,ja;s = ajsars — a;sars = 0. This corresponds to the
rule
Eli]‘ — Elrsal']‘ — aisar]- i ?5 r
lll']' — tlr]' 1=7
This completes the first pivot step. The value of the multiple M is now a,s, which is
true both for the pivot element itself and the basis elements of the tableau since they
begin with value 1 and all other values are in the column are zero (by definition of the
identity matrix assumption) yielding asa;; — a;sa,j = ars — 0(a;s) = ays.

For the second step, first assume that the new pivot element comes from the same
row as the last pivot element, in particular let the new row ¢ = r. Again, each element
is multiplied by the pivot element; as the pivot element is from the old pivot row, it
must be of the form a,;, where h represents whichever column happens to have the new

pivot element. The matrix becomes

ajj — Arp (arsaij - aisarj) i#r
Ajj — Ay i=r=4g.
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The elements in column % but not 4y, must be made zero so that they can serve as the
zeroes in the identity matrix. This corresponds to subtracting a multiple of the pivot

row from each row. The appropriate multiple in this case is

Ay (arsaih - aisarh)
Ayp

= ArsAip — AjsAyp-

The matrix becomes

aij — ap(arsij — Ajshyj) — arj(arstip — Aisy) 177
[11']' — [1,,]' t=r= 3

Expanding the expression yields

Qjj = AyfrsAij = Appisrj = Arjysip + Arylisyj 1 F 1
= AppArsAij — ArjArsAip
= ars(ama;j — arjaih>
ajj — dyj t=r=s

All elements of the non-pivot row r = g are clearly divisible by a,; when the pivot row
is the same for both steps.

The columns corresponding to the basis, 4,5 in the previous step, are multiplied by
a,, in the new step to yield a,sa,,. Again, nothing is subtracted since all elements in
other rows, by definition of the basis matrix, are zero. Hence the resultant a,sa,;,, when
divided by a5 is simply a,;,, and all elements of the basis matrix have the same value.

If r # g, the pivot element is multiplies each element in the rows other than g.
The pivot element itself is of the form aysag, — agsa,y, since it was in the non-pivot row

previously. Therefore, the multiplication yields

aij — (arsagh — agstyy) (arsaij — Aisarj) 17# 7,8
ajj — (ﬂrsagh - agsarh)arj i=r

Ajj — Arslgj — (g5l i=g

Again, the old element in the pivot row is subtracted (times a multiple) from all other
rows. The element in column j of row g is (rsigj — Agsfyj. For elements in rows i # r, g
the multiple of this number subtracted from each element in row i is b = a,sa;, — a;5a,,

while for elements in row i = r it is b = a,;,. This step yields
ajj — (arsagh - agsarh)(arsaij - aisarj) — (arsai, — aisarh)(arsagj - agsarj) i#71,8

ajj — arj(arsﬂgh - agsarh) — (ﬂrsag]‘ - ﬂgsarj) I=r
Ajj — Arslgj — Agslyj =g
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Expanding these expressions and factoring yields

ajj — ars|aij(Arsgn — Agspy) — Ags(amaij — apayj)] 1 # 1,8
aij = ars(arjagh - arsagj) i=r

Ajj — Arslgj — Agsly i=g

Both rows that need to be divisible by a,5, namely those rows for which i # g, are
clearly divisible by that factor.
Recall that after the first pivot step, all basis elements are a,s. Multiplying by the

pivot element aysa,;, — agsa,y, only in the new non-pivot rows yields

aij — ars(ArsAgn — Agsyy) 17 §.

Dividing by ays gives aysag, — agsa,,, which is the same value as the new pivot element.
Therefore, all elements of the basis submatrix have the same value.

The above argument has shown that, given any tableau, all non-pivot rows after the
second pivot operation are divisible by the pivot element from the first pivot operation
and result in a multiple of the identity matrix in the basis submatrix. In a similar man-
ner, the elements of the tableau after the first pivot can be considered a new “original”
tableau, and thus all non-pivot rows are divisible by the second pivot element after
the third pivot step with the appropriate result for the identity submatrix. The initial
tableau, with multiple 1, provides the base case as all elements are trivially divisible by
1. It has already been shown that, in this case, all elements of the basis submatrix have
value a,;. This illustrates how the the integral division works for the first few steps of
the algorithm.
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5 Algorithm Implementation

The integer pivoting EEE algorithm (EEE-I) is a Java-encoded stand-alone program
that reads the payoff matrices A and B from text files and, using only integer opera-
tions, outputs all extreme Nash Equilibria of the bimatrix game. As the integers in-
volved can easily exceed the standard integer size, the built-in Java Biglnteger class is
used for all operations in the linear program. This allows integers constrained in size
only by available memory, and thus removes any question of overflow in large games
or those with large payoffs.

The implementation consists of 4 major classes and several ancilliary classes. EEE.java,
the main class, controls the flow of the algorithm at the highest level by referencing the
other classes. Bimatrix.java performs the read-in procedures and returns a data ob-
ject containing two Biglnteger arrays. Each node of the search tree is simulated in the
Node java class. Each instance of Node holds the current linear programs P and Q, the
current state of both x and y, a boolean vector describing the forced constraints, the
current value of « and f, and a number of tracking variables. In addition, Node.java
contains the implementation of all methods needed on the level of the node, including
the choice of variable to force and the creation of new child nodes. LPType.java defines
the linear program tableau LPType, vectors labeling the basis and cobasis elements of
the linear program, and all necessary operations on the linear program including so-
lution by integer pivoting and adaptation of the linear program to new constraints.
Other classes, including NElist.java, NENode.java, and Tools.java provide support to
these major classes. These classes are all available in Appendix A.

Rather than create an explicit tree, the EEE-I algorithm implementation uses recur-
sion and stack properties to explore potential nodes through a simulated depth-first
search. Child nodes, through recursion, are added to the top of the stack and are re-
moved only when no further children exist; in this way a depth first search is simulated
on a tree that is built as it is searched. While the explicit tree structure is helpful for
understanding the EEE algorithm, it provides no added benefit in the implementation.
Rather, the existence of such a tree structure would have all nodes present in memory,
drastically increasing the demand on the machine. Given the depth first method only
those nodes created but not solved, along with the current node being solved, are in
memory.

As the implementation relies on calls between classes and data types (particular as
relating to the recursive calls), a description class-by-class is complex and relatively
uninformative. Therefore, what follows is a description of the implementation as it
runs, which provides a more intuitive connection between the implementation and the
theoretical aspects of the algorithm itself.
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Upon invocation, the EEE.java class (the runnable class) calls Bimatrix.java to cre-
ate a new Bimatrix object. The Bimatrix class reads in to this new object the Biginteger
matrices A and B from external text files. User input dictates the size of the game.
The game parameters, which are the number of strategies of each player, and the ma-
trices themselves comprise the Bimatrix object, which is a complete description of the

bimatrix game in question.

5.1 Initialization

The first node contains the initial linear programs. By convention of the original EEE
paper, the linear program Q(y|x) is solved first and its solution used as an initial feasi-
ble point for P(x|y). Note that x is not involved in any constraints, it is simply involved
in the objective function. As a result, the value of x is irrelevant to all but one line of
the tableau, and will be ignored here until it is necessary.

Initialization requires that a given vector be found that satisfies all the initial con-

straints. In addition, it is necessary to use this vector to calculate the tableau. It is easy
to choose a vector y that satisfies the first constraint i y; = 1; in particular, the vector
with a 1 in the first position and 0 elsewhere. The rerr]1:a(i)ning constraints are of the form
a > (Ay);, Vi € M. In this section, the constraint « > (Ay); will be written in the
equivalent form a > i Ajjyj, Vi € M for reasons that will become clear. There are m
of these constraints. I]r_ltlroducing a slack variable for each of these constraints, labeled
s¢ for constraint ¢, yields s; = a0 — i Ayjyj, where s must be nonnegative. The smallest
« that can be chosen to satisfy th]e_rllon—negativity constraint is the largest subtracted

term mb?x Aq since y1 = 1. Substituting in this value of « leaves
5t = max Apyn — Anln
for t # arg mqax Aqy and
St = mﬁzlax Apy1 — mtax Any1 =0

fort = arg mqax Aqy. For future notational purposes, let § = arg mqax Agq1y1-

Given the chosen vector y, the constraint equation set simplifies to
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Y1+ Lo Uk =
S1 + 2}1:1 Aljy] - =
So + 27:1 AZj]/j —a =0

(e}

S4 + 27:1 Aﬁjyj —a = 0

Sm + 27:1 Am]'y]‘ —a = 0
n
There already exists an expression for y; in cobasic variables, y; =1 — Z Yk. Sub-

k=2
stituting yields
y1+ Yo Yk =1
$1+ A11 + 27:2(141]' - A11)y]' — =0
S+ Ag1 + Lo (Agj — An)yj—a = 0
S4 + A,ﬂ + 27:2(Aﬁj — Acﬂ)yj —a =0

Sm+ Am + Z;lzz(Amj - Aml)yj —a =0

in which y; has been removed from all except the first equation.
By construction, s; is 0 (since « at first set to that value) and therefore a can be

expressed entirely in cobasic variables as

n
K = Sq —+ Aql + Z(Aq] — Aﬁl)yj-
j=2

Substituting into the constraint set and simplifying gives

1+ Xi ok = 1
51— Sq — 27:2(1457] — A(il — A1]‘ + All)yj = AQI — All
Sy — Sq — ;1:2(qu — Aﬁl — Azj + A21)yj = Azil — A21
=5 = Lo (Agj — Ap)y; = Ap

sm— 55— Ljo(Ag— Ap — Amj + Am)y; = Ap— Am
This set of equations describes a feasible solution to the first linear program. In
particular, there are m + 1 basic variables (y1, &, s; Vi # 4§ € M) and n basic variables

(yi Vi 75 1, Sq)
These equations can be put into the tableau form described earlier. The same com-
putations, switching the appropriate variables, sets up the initial feasible solution for
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P(x|y). The only difference is that a y = y* has already been found by the LP, which is
used in the objective function.

Since the objective function line of the tableau depends on the other player’s strat-
egy, it must be updated before each integer pivoting procedure is started. Recall that
the objective function P(x|y) is x" Ay — B, consisting of a linear combination of each
of the x variables along with the dual variable . Each of the m variables x; fori € M
can be in the basis, the cobasis, or previously removed from the linear program. In
this last case the variable has value 0 and, as a result, nothing need be added to the
objective row of the LP. If x; is in the cobasis, adding x;(Ay); to the objective of the LP
requires only adding (Ay); to the objective row in the column representing x;. If x; is
in the basis, the row corresponding x; is a representation of x; in cobasic variables; to
add x;(Ay); to the objective row requires adding x;(Ay); or s;(Ay); to the objective row
for each j in the cobasis. The result, after subtracting the B row, is an objective row that
contains the up-to-date representation of the objective function in cobasic variables.

5.2 Introducing Constraints, Determining Feasibility, and Integer Piv-
oting

At each node other than the root, a decision or slack variable is forced to have value
0. Since these variables are all constrained to be non-negative, any change in the value
of the variable is a decrease from positive to zero. In the EEE-I implementation, it is
necessary to incorporate this additional constraint into the tableau and, in addition, de-
termine whether the tableau remains feasible. Fortunately, it is possible to accomplish
both steps simultaneously.

Instead of thinking of removing a variable x; from the tableau, consider the linear
program defined by minimizing the value of x;. As the goal is to determine whether
there exists a feasible solution when x; = 0, the set of constraints is exactly the same as
that defined in the tableau. If the minimized value of x; subject to those constraints is
non-zero, there exists no feasible solution to the tableau with x; = 0 and, thus, forcing
x1 = 0 renders the linear program infeasible. This defines the end of a path from the
root and the node in question is a leaf of the algorithmic tree.

However, if x;’s minimized value is 0, it is possible to pivot x; into the cobasis.
Since x; will no longer deviate from 0, its column in the cobasis can be dropped. At
each step, one column is removed from the cobasis, decreasing the dimension of the
linear program. The one exception is when all cobasic values are 0, in which case the
basic variable can be dropped immediately (assuming its b value is 0) as there is no
interaction between it and any other variable and it has already been minimized to
have value 0. Applying this method allows the new tableau to be directly computed
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from the old tableau, incorporating the additional constraint without requiring a new
initialization procedure at each step.
In the bimatrix game discussed in Section 1.2 (and using the same objective func-

tions), the tableau for Q(y|x) upon entering the second node (Node 1) is

2 -1 2
1 0 1
Q=1 , |,
2 1 /

where the basis, in order of rows, is («,y1,s1) and the cobasis, in order of columns, is
(y2,52). (Note that here and throughout this paper, a / is placed in the z position to
replace the number there. This is because the algorithm is not set up to compute the
value of z - the value is irrelevant to the algorithm - and thus having the number that is
there in the implementation may lead to confusion.) This node explores the possibility
that Player II's first pure strategy is a best response, which corresponds to s; = 0. As
s1’s representation is the third row of the matrix, that row (temporarily) becomes the
objective function of the new linear program to minimize s;.

Minimization proceeds along the same lines as maximization, with the sole differ-
ence that positive coefficients, rather than negative, are chosen in the objective line to
determine the incoming variable. By the normal selection process, s; leaves the basis
while y; enters the basis. The resulting tableau reads

2 —4
-1 1
1 -1
-2 4

Q(ylx) =

~N = = O

with basis (&, y1,y2) and cobasis (s1,s2) and M = 2. s1’s value, as it is in the cobasis,
has been reduced to 0. This provides a feasible solution with the additional constraint:
(¢,y1,Y2,51,82) = (3,%,1,0,0). The column corresponding to s; can be dropped as it
will not change from 0, leaving

Qylx) =

Ju—
~N = = O

—4

s has now been permanently removed from the tableau, relegating v, to be a best
response in all subsequent nodes as is prescribed by the algorithm.
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A later node of the same bimatrix game algorithm tree provides an example of what
happens in the case of infeasibility. In this step, P(x|y) is constrained. On entering the
node,

-1 5

-1 3

0 1

1/

with basis (B, 12, x2) and cobasis (r1). x1’s absence from the basis and cobasis shows

P(x|y) =

that it has been removed in an earlier step, namely x; = 0 has been forced. This node
attempts to set xp = 0. It should be clear that such an assignment is infeasible; by the
probability constraint x; and x; cannot both be 0. Examining the tableau, the third row
(corresponding to x7) cannot be decreased from its value of 1 as there is no positive
coefficient in its cobasic representation. As a result, there is no feasible solution with
xy = 0 given the previous constraints, and this path from the root can be abandoned.

The above description of the EEE-I methodology for incorporating constraints and
determining feasibility is a prime example of how solving the linear programming step
internally rather than with calls to an external program clarifies the algorithm. While
external programs likely use more complex procedures to enforce tight constraints,
the concept of decreasing the dimension of one of the linear programs in each step
has an intuitive feel as there is one less of the m + n best response criteria that need
to be solved after any particular node. In addition, the geometric view of the algo-
rithm provided above ties in nicely; each constraint means a decrease of one dimen-
sion in the geometric space in question, being on a polytope corresponding to x; = 0
or r; = 0. This is encoded, as is the depth of the node, in the size of the linear program
tableau. The geometric representation of infeasibility, the inability to find a point in the
decreased dimension corresponding to all constraints, is mimicked in the inability to
decrease the size of the tableau. Therefore, this particular step of the implementation
nicely connects a number of aspects in this work.

Feasible linear programs, once the constraint variable is removed, are solved through
the integer pivoting steps described earlier. Given the implementation up to this point,
the actual pivot step is easy to implement and requires only basic operations using Big-
Integers. The algorithm output includes the bimatrix game, all extreme Nash Equilib-
ria in rational-number form, and a list of the connected equilibria. In addition, the total
number of nodes visited and the total number of pivots is listed, as this is a machine
and platform format that may be more reasonable for cross-algorithm testing that time.
Figure 14 provides the output for a 5 x 5 game, modeled after Savani’s implementation

of the LRS enumeration algorithm available at http://banach.lse.ac.uk.
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The matrix is of size 5 by 5.
Matrix A:
8 382
5 573
9 10 8 5
8 694
2 991
Matrix B:
110 2 57
6 6 9 10 8
5 4 4 81
5 2
6 4

N © NN DN

910 7
7 510

5 extreme equilibria.

EE #1 x = {1} ( 0 0 1/13 8/13 4/13 )  y = {1} ( 0 1/7 §/7 1/7
EE #2 x = {2} (00 3/7 4/7 0) y={2y (0 0 1/21/2
FE#3 x =13} (00 0 2/3 1/3) y={3+(0 0 1 0
FE #4 x={4} (00 0 1 0) y=4{3}(0 0 1 0
FE# x =5} (00 1 0 0) y={4(0 0 0 1

A total of 94 nodes.
A total of 81 pivots.

Figure 14: A 5 x 5 game and its output.

31



6 Degeneracy

The binary tree obtained by the dichotomous branching on the first m -+ n best response
conditions ensure that all pure strategy equilibria are found. The procedure enumer-
ates all 2" possible divisions of pure strategies into those that are best responses and
those that are played with zero probability. However, in degenerate games there exist
equilibria in which pure strategies which are best responses are played with zero prob-
ability. This can occur as long as there exist other pure strategies that have the same
payoff and at least one is played with positive probability. The question of how to deal
with such potential degeneracies in the EEE algorithm is the topic of this section.

The original EEE algorithm addresses the degeneracy problem by branching off
into m 4 n nodes at each discovered Nash Equilibrium, such that there is one node for
each pure strategy of the game. At the node corresponding to pure strategy i, the half
of the best response condition that is not fixed is then forced to be an equality, thereby
making the pure strategy be both a best response and played with zero probability. If
x; = 0, then the node adds the constraint that « = (Ay); and vice versa. The authors
refer to this as polychotomous branching. If the node is feasible, it is a Nash Equilib-
rium and the polychotomous branching procedure continues for all non-doubly fixed
pure strategies.

(m+1) combinatorial

Such a method will find all degeneracies as it explores all 22
possibilities of fixing variables and slack variables, but involves large computational
overhead. Consider a 20 x 20 non-degenerate bimatrix game with 51 Nash Equilibria.
At each of these 51 equilibria, each of the 40 pure strategies requires its own node to
be checked for feasibility. As these are all non-degenerate equilibria, all are infeasible.
The result is 40 x 51 = 2040 unnecessary nodes. As Nash Equilibria are found on the
m + n level, the degeneracy check increases the tree size dramatically, particularly for
games in which the search tree is relatively full or in which there are many equilibria.
As will be described in the next section, tree size is very important in determining the
running time of the algorithm.

In a non-degenerate game, applying m constraints onto the strategy space of Player
I and 7 constraints onto the strategy space of Player II results in either infeasiblity or a
unique pair of feasible points. The EEE algorithm attempts to minimize the search time
by finding sets of constraints that yield no feasible points well before the m + n level of
the search tree. In a degenerate game, however, the introduction of m + n labels leaves
a continuum of feasible points in at least one player’s strategy set. Finding when such
a continuum exists is thus a restatement of the degeneracy check problem.

In understanding degeneracy, the geometric interpretation of the EEE algorithm is
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0 p() -1 0« p(B) -1

> ® P ©

0 « p(r) > 1 0 « p(B) > 1

Figure 16: The Nash Equilibria of the degenerate game

helpful. Consider the 2 x 2 game

(1) ()

whose best response curves are plotted in Figure 15. The bimatrix game has 4 extreme
Nash Equilibria (Figure 16), of which two are the pure strategy pairs represented by
the white and gray points. If Player I plays with positive probability both of his pure
strategies (as represented by the black point), any point on the second player’s best
response diagram which contributes both labels [0 and [ is a Nash Equilibrium. Any
strategy of Player II provides both labels, and thus x = (%, %), y = (t,1—t) is a Nash
Equilibrium for all ¢+ € [0,1]. The extreme equilibria are the endpoints of the best
response line segment, x = (3,3),y = (0,1) and x = (3, 1),y = (1,0).

There exists some node in the tree where Player II's first strategy U is a best response
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0 p() -1 0« p(B) -1

Figure 17: A node where Player Is strategies are both best responses, and one of Player
IT’s strategies is a best response. The diagram does not change when the second of
Player II's strategies is made a best response.

(B = (x"B)1) and her second strategy is to be added as a best response (8 = (x' B)y),
or vice versa. In Figure 17, both of Player I's strategies have been forced to be best
responses. Forcing Player II's second strategy to be a best response does not decrease
the size of the feasible set - it is a repetitive constraint corresponding to a redundant
equation.

Finding both endpoints of a degenerate game within the first m + n levels of the
search tree depends critically on the objective function used. Only if the objective func-
tion happens to find both endpoints at various nodes in the search tree will a degener-
acy check remain unlikely. In this game, the objective function P(x|y) = x' Ay — B
and Q(x|y) = x'By — & finds only one of the two extreme points within the first
m + n levels of the tree. However, the objective function P(x|y) = x' (A + B)y —
and Q(y|x) = x" (A + B)y — a finds both. Switching the rows of Player II's payoff ma-
trix (which changes the game) yields the opposite result. It seems very unlikely that
there exists a pair of objective functions that are guaranteed to find all extreme equi-
libria without a degeneracy check, and therefore some sort of degeneracy check seems
necessary.

However, the insight gained from the geometric approach can be used to improve
the efficacy of the degeneracy check. Recall that the EEE-I implementation discussed
in this paper includes constraints in a linear program by solving the linear program
of minimizing the variable (or slack) to be removed. If the minimized value of the
variable is 0, it can be pivoted into the cobasis where the column corresponding to
the variable can be removed. If the minimized value of the variable is non-zero, the
potential linear program is infeasible.

The one exception to this rule is when the row corresponding to the variable to be
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removed is all zero and there is at least one variable in the cobasis. In this case, the
basic variable cannot be pivoted since all potential pivot elements are zero. However,
deleting this constraint from the tableau has no effect on the feasible set since there
is no interaction between it and any other variable. The basic variable’s line in the
tableau thus describes a redundant equation, exactly the condition described above
for degenerate cases. Therefore, deletion of an all-zero row necessitates a degeneracy
check; all Nash Equilibria with no row deletion can be considered terminal nodes.

Analyzing the tableau structure aids in the understanding of this fact. In non-
degenerate cases, each of the m 4 n imposed constraints corresponds to the deletion
of one column in one of the tableaus. At the equilibrium level, only the constant b col-
umn remains. However, in a degenerate equilibrium, a row has been deleted at some
point in the first m + n levels and therefore there remains at least one cobasic variable
in at least one of the tableaus. The fact that this cobasic variable remains implies that
the value of the basic variables is unfixed, as it depends on the value of the cobasic
variable. Therefore, it remains necessary to perform a degeneracy check only as long
as there is at least one cobasic variable.

In the fourth node, both pure strategies of Player I have been forced to be best re-
sponses and the first strategy of Player II has been forced to be a best response. There-
fore, this node is exactly as diagrammed in Figure 17. Upon initialization of node 4
using the objective function from the original EEE paper, the tableaus read

6 —4 1
1 1
Qv = | | Paln) = | o
/ 4/

As expected, the two constraints on Player I's strategies has reduced one of the tableaus
to only a b column. The third row in the P(x|y) tableau, the all zero row, is the basis
row corresponding to s,. Were this row not all zero, introducing Player II's second
strategy as a best response would correspond to pivoting the variable out of the basis.
However, the fact that the row is completely zero makes this impossible, and dropping
the row equates to introducing a redundant equation. Hence, in the next node, there
remain two columns in the tableau (one cobasic variable).

The preceding discussion implies a change to the structure of the algorithm. The
EEE algorithm searches by binary branching through the first m + n levels and poly-
chotomous branching whenever there is a feasible node at the Nash Equilibrium level.
The EEE-I refinement is to branch dichotomously and then polychotmously until only
the b column remains. This ensures that all extreme equilibria are found, without the

drastic search increase that the original EEE algorithm requires. The result is a cleaner
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and more readily understandable degeneracy check structure.

It is important to note that the refinement to the degeneracy check finds all extreme
equilibria regardless of the objective function employed. Finding all extreme points of
degenerate equilibria is not a matter of luck; the few branches required below depth
m + n explore all possibilities of variable choices until none remain and all variables are
fixed. What is being removed from the original EEE degeneracy description is purely
nodes that either are immediately infeasible, or equilibria that will be discovered else-
where.

In addition, rather than branching on all strategies on each level after m + n, in-
dex numbering of the variables is used to ensure combinations of forced variables are
not rechecked. When the degeneracy check is necessary, all variables from the unfixed
linear program (or both if both are unfixed) are checked by polychotomously branch-
ing on each index; however each feasible branch then only deals with those variables
with indices larger than its own. In this way, all combinations of forced variables are
explored, but not multiple times.

Figure 18 shows the search tree using the original EEE method handling degenera-
cies in a 2 x 2 game for an optimized objective function that will be discussed in the
next section. Some sort of degeneracy check is necessary to find all 4 extreme equi-
libria. Sixty-seven nodes are searched by the algorithm. Figure 19 shows the search
tree for the improved EEE-I handling of degeneracies. Only 29 nodes are necessary to
find all equilibria. While this example is particularly chosen to show the increase, it is
clear that such a dramatic change in a game as small as 2 x 2 projects to even greater
differences in search tree sizes for games of large size.

While the new degeneracy check clarifies the algorithm, the computational im-
provement is difficult to measure. The number of nodes to search decreases dramat-
ically, however it is unclear exactly how much time this saves. The EEE-I algorithm,
by virtue of the column decrease at every level in non-degenerate equilibria, requires
only checking the value of the b column corresponding to the pure strategy variable is
non-zero. As long as it is so, there exists no feasible solution when both parts of the
best response condition are introduced. Therefore, in pure strategy equilibria it seems
likely that the computational time is minimal for the degenerate case, though certainly
non-zero.

However, the inner workings of a commercial linear program solver likely do not
lend themselves as readily to easy identification of infeasible nodes past the m + n
level. It is quite possible that these nodes take as long in feasibility determination as
the other nodes in the search tree. In that case, the improvement garnered from the
new degeneracy check would certainly be significant. In a hypothetical 2 x 2 non-

degenerate game with 51 equilibria, none of the 2040 unnecessary nodes (calculated at
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the beginning of this section) would be searched in the new check.
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10 x 10 | 12 x 12 | 14 x 14 | 16 x 16 | 18 x 18 | 20 x 20
EEE-I time (s) 1.13 6.27 24.03 97.13 596.60 | 1383.93
LRS time (s) 0.85 4.02 18.23 155.85 | 1472.41 | 5732.65
20 x10 122 x10 |24 x10| 26 x 10| 28 x 10 | 30 x 10
EEE-I time(s) | 20.37 18.72 27.87 64.89 62.18 91.22
LRS time (s) 5.54 6.08 6.60 9.52 12.21 15.45

Figure 20: Average running time for 5 random games of each size by EEE-I and LRS.
While running time for both increases with game size, LRS increases at a much faster
rate.

7 Experimental Results

This section provides some brief experimental results describing EEE-I's behavior in
terms of running time. The primary determinant of EEE-I's speed for a particular in-
stance is the number of nodes searched and the number of pivots required at each
node. EEE-I generally solves for equilibria faster than enumerating all 2" possi-
ble supports because sets of constraints that render the linear program infeasible are
found and their descendants ignored. For a given game, the earlier such infeasible
constraints are found, the faster the algorithm will run. Finding infeasible constraint
sets is the domain of the objective function and will be discussed shortly.

Games may require different search tree sizes to find all equilibria regardless of
the objective function. As the number of player strategies increases, so too does the
depth of the tree m + n required to find a Nash Equilibrium; increased payoff matrix
dimensions thus slows the algorithm. Figure 20 compares the running time of the
EEE-I implementation and the LRS algorithm, discussed earlier, for random games of
both square and rectangular dimension. While the running time for both algorithms
increases with size, the LRS algorithm seems to be far more sensitive to the smaller
of the two dimensions, making it suboptimal for games in which both dimensions
are large. The LRS algorithm thus seems useful for games with large discrepancies in
number of strategies while the EEE-I implementation is more promising for solution
of general large games.

Empirically, the number of NE often increases as the size of the game increases. To
remove the possibility that this increase in running time is wholly due to the number of
equilibria, Figure 21 provides the EEE-I and LRS running times for the unique, pure-
(i+1)(j+1). By
deletion of strictly dominated strategies, the only NE of this game has both agents

strategy equilibrium multiplication game defined by A;; = B;; =

play their last strategy. As game size increases so does running time.

Games of the same size are not all created equal; some games require a larger num-
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20 x 20 | 30 x 30 | 40 x 40 | 50 x 50 | 60 x 60
EEE-I time (s) | 0.32 0.58 1.13 2.00 323
LRS time(s)| 1.17 2.32 4.06 6.21 8.81

20 x 20 | 30 x 20 | 40 x 20 | 50 x 20 | 60 x 20
EEE-I time (s) | 0.32 0.42 0.56 0.74 0.98
LRS time(s) | 1.16 1.73 2.07 2.57 3.01

Figure 21: Running time for the unique, pure-strategy multiplication game.

ber of searched nodes. Consider Figure 22, two search trees for different 2 x 2 games
using the optimized objective function described below. On top, a highly degenerate
game, large constraint sets are required before feasibility is obtained. This is separate
from the issue of degeneracy discussed previously. While the improved degeneracy
check decreases the size of the search tree, the game simply requires more searched
nodes than the bottom tree, a non-degenerate game with 1 pure strategy NE. Search
tree size is also a function of the number of NE of the instance game; since each Nash
Equilibria requires at least 1 node at depth m 4 1, a game with more equilibria may
well require a larger search tree.

Hence, good instances for EEE-I for a given game size are non-degenerate games
with a small number of equilibria. Bad instances either have a large number of equi-
libria or are highly degenerate. Figure 23 provides the average running time and the
average number of equilibria for two 9 x 9 games as run by an optimized (by objective
function) version of EEE-I and by the same version without the improved degeneracy
check (EEE-o).

In the symmetric r X r “guessing game,” each player chooses a number from 1 to r.
The player choosing the lower number receives that value, while the player choosing
the higher number receives the difference between the high and low choices. If both

choose the same value, they receive the lowest payoff. The payoff matrices are

i+6 i<j j—it6 i<|
Aj=13 i—j+6 i>] Bi={ j+6  i>]
1 i=j 1 j=i.

The “dollar game” is a combination of the Grab the Dollar and War of Attrition
games as described in the GAMUT’s User Guide (2004). Players surround two objects,
one with utility value 100 and one with utility value 50. If both players grab for the
objects at the same time, both receive nothing. If one grabs an object earlier than the
other, the faster moving agent receives the object valued 100 while the slower moving

player receives the object valued 50. In addition, both players value time and their
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Figure 22: Search tree for a highly degenerate game (top) and a non-degenerate game
(bottom). *s represent NE, ** represent the first time an NE is found.
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Guessing | Dollar

Game Game

5NE 73 NE

EEE-I  time 0.36 25.25
nodes 337 141531

pivots 530 43987

EEE-0 time 0.37 14806.06
node 427 279020949

pivots 530 20326989

Figure 23: Comparison of running time, nodes, and pivots for the 4 tested objective
functions.

potential payoff decreases two units for each time period before a player grabs for the
better object. For solution purposes, one unit is added to all payoffs. The payoff matrix

is thus
101 -2i 1< 51-2i i<j
Ai]'= 51-2j j<i Bi]‘= 101 -2j j<i
1 i=j 1 j=1

The “guessing game,” which has a small number of equilibria, provides an example
of a good instance for EEE and one for which the improved degeneracy check makes
no improvement. The “dollar game,” however, provides a poor instance as it results
in a large number of equilibria, many of which are degenerate. The difference is more
pronounced for the old degeneracy version EEE-o than the improved EEE-]; in fact
the “dollar game” provides an example of a game that benefits greatly from the im-
proved degeneracy check. While the EEE-o algorithm takes over 4 hours to find the 73
equilibria, the EEE-I algorithm takes less than half a minute.

7.1 Objective Functions

Each node of the EEE search tree solves a linear program, whose constraint set is at the
heart of the EEE algorithm but whose objective function has, to this point, been mostly
ignored. The EEE algorithm proceeds by altering the constraint set and searching for
feasibility, with Nash Equilibria found solely through the feasible set. While, regardless
of the objective function, all NE are found by the algorithm, the form of the objective
function is a major determinant of the running time of the algorithm.

The EEE algorithm’s ability to find infeasibility at early tree depths depends on the
order of variables chosen to force into equalities. If the combination of two particular
variables renders the linear program infeasible, exploring the combination early in the
search tree saves exploration of a far larger number of nodes than exploring the same

combination late in the search tree. At each step, the pure strategy with largest com-
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plementary slackness x;(x — (Ay);) Vi € Mory;j(p— (x'B);) Vj € N is chosen as
the next pure strategy to be forced as a best response or played with zero probability.
The relative values of the complementary slackness is a function of the values of A and
y (fori € M) or B and x (for j € N) which are determined by the solution to the lin-
ear program in the last step, values determined by the objective function. As a result,
choosing the proper objective function can have a large impact on EEE running time.
The original EEE algorithm uses the objective functions P(x|y) = rr;ellsx x"Ay — B

and Q(y|x) = rﬁ}%x x "By — a. Several objective functions may appear more intuitive,
including simply minimizing the dual variable; P(x|y) = —p and Q(y|x) = —a. This
requires less computation than the original EEE algorithm and therefore may save time
since the objective function is recalculated for each linear program at each node.
Another pair of objective functions worth exploring are the empty objective func-

tions: P(x|y) = m%x 0 and Q(y|x) = max 0. Since the EEE-I implementation proceeds
X, yu

until there exists only one feasible solution, even the empty objective function will find
all Nash Equilibria as the feasible set does not depend on the objective function. The
fact that this objective function does not appear to move the system towards Nash
Equilibria may be compensated for in running time by the fact that it searches for the
tirst feasible point, and then terminates. This may avoid a large number of pivot steps,
which appear to be a major determinant of the time spent by the algorithm on each
node.

The last pair of objective functions explored in this section is developed directly
from the endpoint of the algorithm, the search for points where x;(a« — (Ay);) =0 Vi €
M and yj([S — (xTB)j) =0 Vj e N. Asx,y,A, B,a, and B are all nonnegative, the

algorithm searches for the point that minimizes
xi(a — (Ay);) + (B — (xTB)]-)y]' Vie M,j € N.

If the minimized point has objective value 0, it is a Nash Equilibrium; otherwise it is
not. A logical objective function to check is therefore

min x;(« — (Ay);) + (B — (xTB)]-)y]- Vie M,jeN

X,y,0,p
which can be rewritten in vector form with the all 1 vector 1 to remove the Vi € M, j €
N as

min x(1-a — Ay) + (1-p —x' B)y.
X0,
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Random || Guessing || Dollar
(average) Game Game
17 x 17 22 x 22 10 x 10
57 NE 3NE 91 NE
P = max xTAy - B
b 185.74 4375 | 126.21
Q =maxx By —a
Yy,
P = max —f
P 408.27 185.27 118.99
Q = max —a
Y
P = max0
P 396.80 169.10 117.23
Q = max0
Y
P=maxx (A+B)y—p
b 145.65 3266 | 121.83
Q=maxx (A+B)y—«a
Yy

Figure 24: Comparison of running time, nodes, and pivots for the 4 tested objective
functions.

Multiplying and replacing the probability sums x -1 =1and 1-y = 1 yields

min ¢ —x' Ay + B —x' By

xy,e,B

which in maximization form is

max x' Ay +x ' By—a—f=maxx (A+B)y—a—p.
x,y,0,B x,y,0,B
Note that the sum of game matrices is now used rather than each separately. Choosing
over x already determines x while choosing over y already determines B, so the result-
ing objective functions are P(x|y) = m%x x"(A+B)y—Band Q(y|x) = maxx' (A +
X, Yy

B)y — a.

Figure 24 provides the results of a series of tests meant to determine how the ob-
jective functions act on three types of games: a set of 5 random games, the guess-
ing game, and the dollar game. No one objective function is the best in all three
cases, however the objective functions P(x|y) = rr;%x x"(A+B)y—Band Q(y|x) =

7

max x' (A4 B)y — a seem to be best overall as they work far better in the random and
Y
guessing cases, and very slightly worse in the dollar case. Importantly, this objective

function solves all three game classes faster than the original EEE objective functions
P(x|y) = m%x x" Ay — Band Q(y|x) = maxx' By — a.
X, Yy
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8 Conclusions

Variations on the EEE algorithm appear promising as a method of solving for all Nash
Equilibria of bimatrix games, particularly for large games. This paper provides tan-
gible improvements to the EEE family of algorithms. The implementation presented
here uses only integer arithmetic in solution of the linear programs at each node of the
EEE search tree. Rather than necessitating rounding in the linear program solution,
the use of integer pivoting to solve linear programs removes any doubt of error due
to rounding, which becomes more of a concern as the size of games increases. Integer
pivoting appears not to increase the running time so much as to make it undesirable,
though an exact comparison with the original EEE implementation is difficult because
of differing machinery and programming languages.

The integer pivoting implementation also provides insight into the inner working
of the algorithm. Introducing new constraints and its connection to the geometric prop-
erties of the algorithm, as well as the dimensions of the LP tableau, is clarified by the
new implementation. The tableau need not be recalculated (other than the objective
function) for each node; altering the tableau to incorporate the new constraint simul-
taneously checks for feasibility.

EEE in its original form performs a degeneracy check, regardless of the information
in the search tree, that requires a large number of additional nodes. A contribution of
this paper is to improve and clarify the degeneracy check, checking nodes past the NE
level only where necessary. Constraints are fixed not until a certain point in the tree,
but until the feasible set is reduced to one point or infeasibility. This drastically de-
creases the number of nodes, and thereby the running time in several cases, improving
one of the previously weak points of the algorithm.

In the near future, the EEE-I implementation will be made publicly accessible as a
tool for the academic community on a website with the LRS equilibrium enumeration
implementation by Avis. Use by the academic community will hopefully lead to more
improvements on the EEE family of algorithms and the EEE-I algorithm in particular.
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A Java Implementation of the EEE-I Algorithm

This appendix contains the primary code written for the EEE-I implementation: EEE.java,
Node.java, LPType.java, Bimatrix.java, NENode.java, NEList.java, and Tools.java. The
code is included here to serve as a reference for readers interested in the implemen-
tation details, as broadly described in Section 5. Not included here is ColFormat.java,

which is a simple formatting class.

48



(T == [g]auId) uoisian pjo 8y} 10} SBSEI |fe Ul 1o //
[esauab ul uwN|od T UBY) dlow Sey d7 ue Ji 3oayd Adessuabap //
N © sueaw AN|IISEd) ‘W + U =< S[9A3] Je //
as |9 {
((3010HD ‘xapunpliyOpPe’N)SPONSA|0S
(((d01 ‘xepun)pliyoppe’N)8pONSA|0S
0wybriaxau'N = xapur Ul

}
(punog > ypdap'N) 41
pausies uonipuod Arejuawidwod reaul| //
2I0W 3UO UM Yoea ‘S8pou p|Iyd OM) S8Jeald W + U > S[aA3| 18 //
{
‘uinial
Gl undIno welsAs
(z ==[gloupr333) 41 )
((Osd12PONOP'N)i) 41
9IS By} Ul 3pOU 1Xau 8y} 01 SaA0W ‘ajqiseajul //
SI 1ayua JI — apou uaAIb ay) Joy swelboud reaul| Yloq SaA(0S //
{
‘(Jurensuoa’N)J0109AULd S|00 |
‘(N + .2pou s| .+ + (T —1uno2) + # apoN Jupuudino waisAs
HE Jupuidino walsAs
}
(T == [eloup'a33) 41
‘++1UN0OJ
apou e BUIA|OS 10} poyiaw pajed AjAIsIndal ay) //
(N 9PON)SPONSA|OS  PIOA
‘ouinial
{
‘(;s1ond . +lunoDionid + ,,Jo [e10] ¥ Jupuudino waisAs
‘(:sopou .+ 1UNod + ,J0 [€10) ¥ LJupundino walsAs
}
(€ == [gloupa33a || 0 == [¢lowo'333) 41
‘Oupundino waisAs
(e =i [¢loujo'333) 41
{Owind-aN
‘Qupuud-ino waisAs
(¢ =i [elauo333) 41
{(N)apONaAj0os

AjaAIsInoal aweb ayy an(os //
{|09°8Wes) + MoJ'dWeD = punoq
(.0l und-no walsAs
(2 == [¢loupr333) 41

‘(awe9o)azieniul = N 8poN

‘(xareI'awes

(z==[cloup'333) 41 as | {
‘(puinjos Juudno weisAs
‘(indino-swen ,

(T ==[zloup'333 || 0 == [glou>'333) 4!
|02"aWes + MoJawWwes) = punoq

‘(xrgxurew |, axryxurew . ‘0 I)Xurewig mau = awes xurewlg
apou [eniul sy yim ananb ay) sajealo pue aweb ayy Ul speo) //

sse[o welboid urew
(O w0 o )wesboud i

(9 “n)wresboid-uni

‘([T]sBre)ujasred iabajul = 2
‘([olsBue)ujasred iabau = 1

{
{(666)1x0 WalsAs
‘{()suonoauip
}
(z > yibus|'sbie) J1

‘([Nsbrehujasted 1abalu| = [i]auld
(++1 ‘ypbuay'sbie > 1 % ybugaud >1:0=1 Ul ) 10}
ul-peal juswnbire aul| puewWwod //

‘0=0'0=4 I
‘)33amau =uni 333

(sbue [JBuns)urew pioa o 131e1s 21 |gnd
‘punog Y]]

‘[a] w mau = aud[] wn o11€1S
‘(Jsuonoalip 9as — sjuswnbire aul pueWWOD //

‘O1S1aN mau = aN  IS3AN

‘0= Wunod i 2131els
‘0=1unoolond i D 11els
SI8JUN09 //

‘0= 3JDJIOHD I d1le]ls
T= dD1 i o1lels
SJUBISUOD // )
9po3 siyi BuiAuedwosse Jaded ul passnIsIp se suonelale Yyum //
g8ee-£2¢ ‘ez "dwo) "19S ' VIS .Ssaweb xuyewiq jo euqinba awanxa //
Ire Jo uonesawnul, (TO0Z) ‘[e 18 12pny Jo uoneuawsa|dwi Bunoaid Jabayul //
333 sse o o gnd

“yrewenel 1iodu |

Lz abed

eAel333

/T obed eAel333




[T + |09 8Wwen][z + mossweliabajulbig mau

‘Ouinial

‘(reyb ‘mourawes ‘|09 sweD)sIseqoDBUILWIBIBP = SISe|0d D
‘(reyb ‘mosawes ‘|09 awe)sisegaulwlialap = siseqd
'$1020 = 5100d1'0
‘SmoId) = smoddT O
'd1=d70

=0 adA1d1

{

‘0)adA1LdTMmau

‘([ollt - lv)oenans[o]lreubly = [T - sj00Q](l]d1
‘()erebau-aNO 19bauIbIg = [z - S|090][1d1
((lo][t = lwpoenans[t + [T - llv)ppe:
((x + Nreyblv)oengns: E:Ezs SAUER
(++l'z-s1000 >[0=1 1w ) Jo}

(++1T-smoid >1:g+reyb=1 ju ) J0}

‘([olle - 1v)woenans[o][reubly = [T - sj0oQ]ll]d1
‘(JerebauraNno 1ebabig = [z - sj0o0][Ild1
((lolle = lwpoenans[t + [z - llv)ppe:
(([x + reublv)oenans:[o][reublv) = [lld1
(++[iz-=sj020>[0=[ ) 10}

(++1‘z+yb>1iz=1 ) 1o}

‘INO18bamlbig = [T - s|09Q][T]d1
(aNor1ebauibig)Aldninuwr[o]reybly = [T - sj0oQ][0]d1
‘0y3z 1ebawibig = [z - s100Q][T]d1

‘()erebourano iebaiulbig = [¢ - sj000][0]d 1

{
ANO1ebaIBig = [[T]d1
([t + Nreyb]w)roengns-[o]lreublv = [[old1 )
(++[z2=sj000 >[0=[ ) Jo}
(0 ‘vawe9n)joDisabieiabs|oo] =reyb il

‘ybua|[0]d1 =s102D I
yibua|'d1 = smoid 1l

= d1 [I[kebaruibig

‘grawes = g [][J4ebaiubig
‘yaweo = vy [|[J4ebaiulbig

J1aded jo uonoas uonezieniul 8as —— Q) 10} 47 [enul sy} sayeald //

}

(swe xurewig)dOuul 8dA1d

{

((2Q10HD "DPIYOPPE N)SPONBAI0S
([3010HD][hurensuod'N;j) 41 8s |9

{

((d07 ‘DPIYOPPE N)OPONSA|0S
([do7]thurensuooN;i) 41

(++1 ‘ypBud|IURNSUOI'N > 1:0=1 Ul ) 1O}

¥99yd Aoessuabap plo //
(N apoN)aresauabap pjo ploA

((2210HD "PIYDOPPE’N)2PONBAI0S
‘T +1=X8puip’'N

e

([3010HD][Murensuod’N;i) 41 as |9
((d27 'NPIUOPPE'N)OPONSA|OS
T +1=Xx3puip'N
([do7]ihurensuoo N;i) 41
(++1 'pUspP'N > 1 'X8pulp'N =1 jul ) 10}

¥98yd Aoeiauabap mau //
(N apoN)aresauabap pioA

L Jud-ino waisAs
(¢ == [eloup'aaa) 41
{
‘{(N)eresauabap
as |9
{(N)oresauabap pjo
(T ==I[gloui) 41
{
{
‘pbud'x'N :
yibus|'A'N + YIBus|’X'N ¢, (T < S|0DdTO'N) = pusp'N
‘YBUSI’X'N 1 0 ¢ (T < S100dT'd’'N) = XapuIp'N )
(punog == yydap'N) 4 |
328yd Aoelauabap ayl saulwiaiep //
{
‘uinial
Gl undno weisAs
(¢ ==[gloup'333) 41 )
(T ==5100dT'd'N 8% T ==S|0DdTO'N) }!
s Jundino weisks
(¢ == [eloup'3a3) 41 .
(T =i [glound) 41
(AN X'N)ppe'aN y

}

}

LIy 9bed

eAel333

L/ obed eAel333




‘[][joo"awes + mosawes] uesjooq mau

Bu(gn auil puewwod ayr wouj weiboid ay) axoAu| Jupuud

N0'WaIsAS

()suonoalip ploA o 11e 1S

INUInilal
:0y3z 18bau|big = e1eq'N
‘oy3z1ebaibig = Ea_m N

‘(lurensuo09)Adoarsjoo] = E_mzwcoo N
{()apoN mau = N 8poN

=1urensuod [][] uesjooq

‘03z 1ebauIfIg = [IA
(++1'yBusA>1iT=1 1 ) Jo}

‘3INO18babig = [p]A
= A [J1abayibig
‘od3z 19B31W1Big = [i]x
(++1‘ybusx > 1iT =1 U ) Jo}
‘INO 18bawibig = [p]x
= x [J1abayuibig

‘[loo awenliabau|big mau

‘[mosawenliabau|big mau

‘(ewe)dnul = O
‘(swe9)du

¢ Inu =0 adA1d1
©qnu =dadAldl

apou [eniul 8y} sayeald //
(swe9 xirewng)azieniul 8poN

{

‘duinial

‘(reyd ‘|02°aWED ‘MOJ BWED)SISLAODBUILIBIBP = SISB]0I’d
‘(yeyd ‘|oo’awes ‘Mol aweD)sisegaulwialap = siseq'd
'S]09d = S|00dT'd
!SMOId = SMOYdT'd
‘dl=dTd

=d adA1d1

{

‘)adALdT1mau

‘()arebauraNo18baulbig = [z - sj0od][l]ld1
‘(1 - llola)oenans freyd](olg = [T - sjood]lild1
(It - 1Mlolahoenans [t - Mt + llg)ppe:
(([reud][t + Ngnoengns: _a;&_o_mv [Nian
(++ iz -sjood>[0=[ 1w ) 10}

(++1 ‘T -smoid >1‘g+reyd=1 1 ) i0}

‘()erebouraNo 1ebaubig = [z - s102d][1]d
‘[z - Nllola)wenans reyd](olg = [T - sjood]ildT
([ - lolanoenansz - 1t + [lg)ppe:
((eud]lt + Nahoengns: :m%_:o_mv = [0ld7
(++l iz -sj0od>[0=[ 1w ) 10}

(++1iz+r0yd>1i2=1 Wl ) Jo}

{

‘INO18baIbIg = [T - s100d][T]d

ﬁ
(aNo1ebaibig)Aidynw-freyd]fola = [T - sjood][
‘0y3z1ebaibig = [z - m_oon__w

T
0ld1
Tld1

‘()erebouraNo 19baubig = [ - s|0od][0]dT

‘aNO1ebawibig = [[T]d7
“(reyd][t + N@noenans:freyd]lolg = [fllo]d1

(++[z-sjood >[0=[ 1w ) 1o}
(T - pbuaro]lgawes ‘o ‘[olgawe)sabreiab sjoo] =reyd 1l

‘ybuarfo]ld1=sjood 1w
‘yibus|' d1 = smold i

[T + mosrawen][z + |02 swesliabaju|big mau

{

}

= d1 [I[ebaruibig

‘grawes = g [][J1ebayubig
‘yaweo = v [|[J4ebayubig

Jaded Jo uonoas uonezieniul 83s —— d 10} 47 [eniul ay) sayeald J/
(swes xurewig)duul 8dA1d1

'SIseqod uJunia i

‘T + ey + sleprewnd = [T — yibua|'siseqoa]siseqod

‘I + Z = [I]siseqoa
(++1 ‘T — ybus|'siIseqod > 10 =1 1ul ) 40}

‘[srearewnd] 1wl mau =siseqoo [] i

10J09A Xapul 21SBq02 3} S|Il //

(rey ‘srepenp ‘srepfewid  ul

'siseq uinial

‘T + 1+ sreprewnd = [1 + T]siseq
(++1 ‘sreprenp > 1T +Jey =1 1l ) 10}

‘T + 1+ sreprewld = [1 + g]siseq

(++172Yy>1'0=1 I ) J0}

)siseqoDauiwialap [] ul

T = [1]siseq
=[olsiseq

‘[T + siepAlenp] 1 mau =siseq[]

10199/ Xapul Siseq aup sl //

(rey ‘sreplenp I ‘sreprewnd i

)sisegauiwiaep [ wi

}

{

/9 abed

eAel333

1/ afed

eael333




“fpayd 333 |0 T N
{linejop] 5000 |-333 mau 0 N
%9y Aoessuabap — ybire
auwehb 19 ul wioy Jadel] dwes ul saduew yoked :T )\

‘(uneyep] X1 @xuTeL Ul g ‘X1 YXUTEW Ul Y i0 )\

‘edA indul - ghie
0=0NNNO=d:EN
®ipg- = O N NN eyde-=d:2n
efpq — Agx = O NN eyde — Ayx=d T )
[iesop] w190 — A(g@+V)x = O N eydie - A(@+V)x=d 0\

{pnouny anndalqo — zbire
(abgoed aamuAs buisn) indino aai xare| g )

Mdino asoquan T 1\
Hineyap] indino prepuess :g )
‘@dA1 indino — Thie
‘114(pAeld 10} salbarens Jo Jagwinu ay) SI U pue
| 14fe|d 1oy saibaress Jo Jaquinu ays SI W alaym

\kpie gbie zbie Thie u w 333 enel)

JupundinoweisAs

WupuudinotweaisAs

LupuidinotwalsAs
upuud:

N0’ WaISAS
upuud

N0’ WLISAS

upundino waisAs

LupuidinotwalsAs

LDupundinowaisAs

LupuidinotwalsAs
Jupud:

N0’ WLISAS

upundinowaisAs
Jupuud:

1N0"WAISAS

WupuidinotwelsAs

Jupundino waisAs

WupuidinotwealsAs
upuud:

N0’ WISAS
upuud:

N0’ WLISAS

upundino weisAs

/1. abed

eael333




(edAy reyo

‘0Adoo'd = d'H

'JUN02°333 = J8IUN0D'H

‘awes) = awes'H

'T + yidap = yidep'H

¢ ann = [adAi][xepuifurensuod’H
‘(Jurensu09)Adoa’s|oo] = Jurensuod'H

‘T + Xopul = IN0'H
as |9 {
T + |09'8WED + X8pul = IN0'H
as |8
T+ MOJ'awes) — Xapul =IN0'H
(32010HD'333 == adA)) } |

(dpabueya Hi) 41

(T == 8dA1 %979 mosaweD =< Xapul)
|| (0 == adA1 % mourawes > xapul)) = dpabueys H
{(unoo'3a3 +.] JundnorwaisAs
(¢ == [¢loup-333) 41

‘(H+swared ,+ sy Jupund-ino waisAs
(T == [elour333) 41

{()apoN mau = H 9pOoN
juelsuod areldoidde sy Buippe uayl //

‘dD7 40 IDIOHD S! S3|qeleA 3y yi Buluiwiaiap Ag payenofed st inoH //
pappe 1uleJISuod [euonippe //

U0 YIM ‘apou Juared ay) WOy PaALIBP 3IelS 8yl 0] 8pouU Mau e sppe //
(edAy 3w ‘xepur ui

JupuudinotwaisAs
as |9 {
[t - s100d711ll0ld 77 = eydie
WT=IO
(O, ==2adA) 1 8s |9
‘It - s10od11l[0ld 11 = el

(idoyy3

pu—

W1=WNd )
(d.==2dA) 41
‘0y3z1ebawibig = [ijrewnd
ENNE]

[t = s100d7171BMd 17 = [irewnd
(- =i ((T + 1 'siseq 1)dn3j00|'S|00L = )) } |
(++ ‘yrbusrewnd > 1:0=1 3 ) 1o}

Sl
> Ag papIAIp MoJ Teyl Jo Juawa|a ise| ay} //
SI Y2Iym ‘anfen s arepdn pue siseq ay} Jo Wwawad yoea ybnoiyy ob j/

uonnjos d47//
paia|dwod Jaye uni aq o} ‘nesjgel paysiuly ay) Buisn sajqelren sayepdn J/
‘pbua) 1w ‘rewnd [l1ebauibig ‘7 adA 1 dT7)sieAsrepdn  pioa

)PIUOPPE SPON

{

tani uinial

i(d ‘id siond sayy Jerasiuud

‘(. d. ‘T + molawes ‘x ‘d)sieparepdn

(GNON)dI'd

‘{(d :d s1onid ai0jog wareisiuud

(A "w)1o109AS8WI XLITRW'S|00 ] ‘d)aAndalgoarepdn
(O .0 siond Jayy Jeresiuud

(O, 'T + 109°8WeD ‘A ‘O)siepsrepdn

! ase) uinial
(@no)dIdi) 4!
(0 4O sionid alojeg Jereisuud
(g ‘x)xureysawi | 10109A's|00] ‘O)anndalqoerepdn

~———

as |9
(O ‘.0 siond Jayy Jareisiuud
(.0, ‘T + 109'8Wwes ‘A ‘O)sreparepdn
((3INON)dI'D
4O 4O s1onid alojeg )areisiuud
{((g “X)xureysawi ] 10109A°'s|00] ‘O)aandalgoarepdn
‘(d ‘.d siond Jayy wareisiuud
‘(.d. ‘T + molawes ‘x ‘d)sieparepdn
‘ 9sfe} uinial

(Gno)drdi) 41
‘(d “d s1onid alojeg )areisiuud
{((A “w)Io109ASBWI XL1eW'S|00 ] ‘d)aAndalqoarepdn

(dpabueyd) 41

‘wnsawes : gawes ¢ (T == [glauo'333) = g [I[Jl4ebaiubig
‘wnsawes : yawe ¢ (T == [gloulp'333) = v [I[1ebawibig )
pabueyd sem O 1o d 1 //
Buioayd Aqg 1S} 9A|0S 01 YoIym Saulwialdd "dpou ay} 1o} Sd dYl SaA|0S //
()sd1@poNop  uesjooq

“pusp ‘xapuip ut
‘18)Un0d wi
‘MOHPaAOWBI ueajooq

‘NO ‘Wd  1ebauibig
‘'0=3INON I 2lle)ls

‘ipdap (Y]]
‘0= 1o i
‘dpabueyd ues|jooq

urensuod [][] uesjooq
‘e1aq ‘eydie Jabawibig

‘A 'x [l1ebBayu) b
‘O'd  adALdl
‘aweo  xuewig
‘dispoN i}

}

9poN sse |2 21 |qnd

“yrewenel 1iodu |

G/z abed

enelapoN

G/T abed

enelapoN




‘(s1seqo2 ] 47)10199A1ULId S|00 |
Jwndino weisAs
JupuudinotwaisAs
Jupuudino waisAs

‘(= siseqod
{no +,=10
‘(ydap + = ydag
{(S)upundno waisks
‘d71'Ld1 = d1 [[[4ebeibig
(T == [glouo'333) 41

91e1s Jualnd ay) sud — aunnod Indino j/
(Ld1 8dALdT ‘s Bums)sreisiuud  pioa

{
{([Nlold1-pnoenans [Mizld1m = [izldTm
(++'ybusrfzldTm> 0= i) 10}
}
(e =i [elounp'333) 41
{
{
‘(Ivnposd)oenagns:[sod][z]d1'm = [sod][z]d1'm
(1- =i ((T +1 ‘siseqoa'p)dnyjoo|'sjoo] = sod)) 1 as |9
Mol J/
1SB| 3y} 01 (A1Ud J0}D3A BY) SBaWI) pappe Si a|qeleA eyl //
03 Buipuodsa1i09 UWN|0d 3y} ‘SISeqOd BU} Ul SI | S|qeleA JI //
‘((lonpoud)Adnnur
[Nisodla1-m)ppe (izld1m = [Nz]dTm
(++'ybusr[zldTm>[0=[ ) 10}
(- =i ((T + 1 ‘'siseq-m)dmjooy'sjoo = sod)) § 1|
MOJ 1Se| 8y} 01 (Ausa 10109 ay) Aq paidiinw) /7
pappe aq Isnw s|geleA yey 0} Buipuodsaliod mos ayy uay} //
(T+1 xapul 0} Buipuodsali0d) siseq ayj Ul S | S|qeleA i //
}
(++! ‘yiBualonpold > 1:0=1 Il ) 10}
{
{(aNO 18baBig)Adninw-[iionpoud = xew
(0 < (xew)o aredwoo:[iionpoid) § |
}
(++1 ‘ybusyionpord >1:0=1 ) 10}
}

(T == [elouo'3az |l 0 == [elowo333) 41
‘(0 ‘[Zld 1 Mm)10108A 11 'S100 L

‘INO186aI6Ig = xew Jabaju|big
‘sod il
‘T-Sl0DdTM =0 I
‘T - SMOYdTM =2 1l

neajge) JuUaLind 8y} JO SWIS) Ul uonauNny aAiRdaIqo ay) sarenoedal //
(1onpoud [1ebaubig ‘m adA1d1)aAnoalqoasrepdn  pioa

}

}

‘(fen)1sabiem1absj00] U In 19 4

‘ANO1ebabig = [1][T]ren
(0 == (0¥3Z 1963IBig)0 L oredwo [i][T]en) 1
(++ ‘pousy[rlrea>1:0=1 1wl ) 104

(nad)Admnw: (Nd)Aldninw NO = [mourswes + I][T]iea
‘(wJa  puodas)ioengns wiaIsiy = [mosswes + i][o]ren
‘(Nd)Aidnnw- ([ax)Aidninwi 1A = wius | puodas
(nd)Aidninwr (eyaa)Aidminu-[IlA = was sy

P

as |9
‘INO 1ebaj|big = [molawes + I][T]len
‘()erebaugNO 18bau|BIg = [MmoJ BweD + 1][o]jen

([do71'333][mosawes + urensuod ||
[3010HO'333][MmosBWeD + urensuod) § |

(++1jooBWED >1!0=1 Wl ) 10}

{(INOYAdmnw (NO)Aldminw Nd = [1][T]ren
{(wia ] puodas)ioengns-wiaisiy = [i][o]rea
{(INO)Adminw (NO)Adnwi[1]x = wiis | puodas
{(WO)Aidninwr-(eydie)Aidninwfilx = wis 11s1y

A

as |9

‘ANO18bawibig = [1][T]reA
‘(Jerebau-aNO 18bauIBIg = [1][0]len

([do1333llhurensuod || [3010HD 333][1urensuod) § |
(++ ‘morawe >1:0=1 i ) 10}

‘W9 puodas Jabayulbig
‘wua1shy 1ebayulbig

(A ‘vrawre9)io1aAsawI | XUrew's|oo] = Ay [J1abaubig
{(grawes ‘X)xure|Nsawi] 101089A's|00] = gx [J1abaiu)big
‘[wbuajurensuos][z]iabaiulbig mau = [en [J[J4eba1u)big

1ybn apew aq 01 a|qeleA 1Xau 8y} Jo Xapul 8y} suinal //
Owbixau  jul

‘Huunau

‘puap = pusp'H

IXapul = Xapulp'H

‘(0y3Z 18ba1IbIg)ppeBIaq = Bleq'H
‘(0y3z 18babig)ppeeydie = eydie'H
‘T + dISPON = AISPON'H

{(A)Adoa'sjoo] = A'H

{(x)Adoa'sjoo] = Xx'H

{0Adoo'd = O'H

S/ abed

enelapoN

/¢ abed

enelapoN




N JupuudinowaisAs
([T - uibuay AJA)und-Ino waisAs

G . + [1Awudno weisAs
(++1 T -ybuaA>1:0=1 ) o}y
(W=A JJuudnoweisAs

‘QupundinorwalsAs
.+ [T = yibuax]x)undno waisAs

' + [1x)1undno wershs
(++'T - ybusIx >1:0=1 I ) Jo}

() =x JundIno waisAs
(d7uudrewioj0d

(WLdT+.=I Jupuudino walsAs
‘(siseq’ 1 d1)10109A1Ld S|00 |

= siseg Jwndno waisAs

G/ abed

eAel'apoN




{
oo1onid][moxiond]d T = utodiond
|0010N)MOHIOAIIPUY = MOHIOAId

‘()ana pueq = j0D10Md

=

}
(0000T < NIdhUNO2) § 1
‘++A1d1UN0D

‘101084 Jabayu|big
{[loo1onid][modionid]4 7 = Julodionid Jsbeiulbig

ainpadoud jonid 8y /

(loorond ur ‘moyiond qur - )ioad  ploa

fan uinial

{
‘(sod)joDa1819p
‘(sod ‘anowai)iond
‘()arebaur[ll[enowsal]dT = [[anowal]dT
(++[!sj00d1>M0=[ 3 ) 10y
(0 > (0y3Z 19b81UIBIg)0 | Bredwod [sod][anowai]ldT) !
}
as |9
{(anowias)moyals|ap
(T-==s0d) 41
(0y3z 18ba1uIbIg
‘2 - 5100d1 ‘0 ‘[erowal]ld1)sqvisabieiab sjoo] = sod i
Mol auyy //

S9A0WAJ ‘MOJ BY} Ul 0J9Z e SJUBW|3 e J| "d|gelren ayl SaAoWal pue //
(a1qissod J1) 1no 1 sjonid ‘018z SI 8|geLeA diseq 3yl Jo anfeA ays Ji //
(enowal Ul )oiazmoyanowal uesjooq 9 1 |gnd

Po9sle) uinial

( {
‘(9A0W1)0IaZMOYBAOWSI U IN 18 4
(0 == (0¥3Zz 18bBaWI6Ig)0 | BredWO [T - SjoOdT][eA0wWal]dT) 4 !
‘(1no ‘siseq)dn00|'S|00] = aAowal
}
as |9 {
‘eny uinial
{(loojonid)j0031819p )
(anowas == moyiond) } 1
‘(joo1onid ‘moyronid)rond
‘(joorond)modonidpul = moyiond
}

(1- =i ((z - s100d7 ‘0 ‘[enowai]dT)isebrenab sjool = j0o10AId)) ® | Iy

‘{(8n0Wa1)0I9ZMOYBAOWDI U IN 18 J
(0 == (Oy3Z 18b3|BIg)0 1 BredWOod [T - SjoDdT][eA0WwaI]dT) 4!

}

{
Jereisiuud
Jupuudino waisAs

}
(T ==[zloupa33) 41
‘(Ino ‘siseq)dny00|'s|00| = aAowal

{

pu 01 BulAn alojeg
‘(anowal + ol ‘siseq ay} u|

‘ani uiInial
‘{(anowas)|joDal8|9p
‘(@nowal +ywnjod ‘siseqod ay} uj JupuudinotwalsAs
(T ==[clawpr333) 41

(T- =j anowal) } 1

fany uinilal
(0==1m0) 1

{(In0 ‘s1Iseqo2)dn)00|'S|00| = SAOWSI Ul
‘sod ‘joD1ond ‘T— = moylond ul

a|qissod J| sanowal — 47 //
woJj N0 a|geLeA anowsal 0) bundwane Aq Aljiqises) saulwiaiap //
(;no 1  )repsnowsas uesjooq 9 1 |gnd

tani uinial

{
‘(looonid ‘modronid)ronid
‘(loo0nid)MmoyIoNIdpUl = moyloald
}
(1- =i ((z - s100d71 ‘0 ‘[T - smoddT]d1)ise|ewsiah
s|00] = [0D10AId)) B | Iyw
welboid reaul| ay) anos //

! 9sfe} ulinial

‘(nyssadonsun pry Jupuudino waisAs
(T == [glounp333) 41

(Gno)repanowal;i) 41

‘loD10A1d ‘moyiond ul

(no 3t )di uesjooq o1 |gnd

‘0 = Aidiunod ul
‘siseqo? ‘siseq 0w
‘INOJebayubig = N Jaba|

51007 ‘SMoyd1 w

‘d1 [l[1ebawibig

}

sse|d Buinjos weiboud Jeaul| sabajul //
adA1d7 sse |2 o1 |gnd

“yrewenel 1iodu |

9/z abed

eneladAl1d7

/T abed eneladA]ld7




(++['ybusrfoloy > o= 1) 1o}y
(++1'ybusror>1:0=1 1 ) 10}
facm_._gn_.__:|£mcm_.n_._r%£c_m_m_>>mc uo;?mmme_m_m_

{
[T - smoxd1]dT = [lllz - smodd]d1
‘[illz - smoddld1 = [illmoi]d )
(++1's10Dd71>1'0=1 ) 10}
1SB| 8y YlIM dA0Wal 01 Mol ay) dems //

d7 dY1 Wolj Mol Sanowal //
(mos I )moyaislep  ploA

‘ulw uan el
{
) {
1= uw
J[all]ld7 = wersuos_ulw
lloorond](ild7 = geoo uiw
}
(0 < (yBu)oLaredWOdY)) 4 I
([alllaAdnnw- a0 uiw = bl 1ebauibig
‘([loorond][lld 1) Aidinwueisuod uiw = Ya| 1abaubig
}

(++ ‘T - smoydT>1'T+Uw =1 1ul ) lo}

‘floolonid][uiw]d = Yo09 uiw Jabaubig
Talluiu]d = ueisuod uiw Jabajuibig
‘T=uw
‘T-sl00d1=0 1w

‘anfeA alnjosge 1Sajjews sey uwnjod JoAid ayl 0] uwnjod q //
a1 JO o1el 8yl YoIym Joj MoJ ay) g pjnoys mol Joaid ayi //
(loolond jur )moHioAIdpUl Ul

‘T-uinial

quinial
(0 > (O¥3Z 19b3IBIg)o L aredwod [I][T — smoddld) 4!
(++1'T - ybusrfold1>1:0o=1 1w ) 10}y
‘fhasn Buiaq ajnJ s,puelg Jupuudino waisAs
(€ == [cloup'ga3) 41

BuioAo plone 01 47 awes J/

ayy ul sjonld jo saquinu abie| e aye s|nJ s,puelg 0} YIUMS //
(=i pueig i

‘(dlo1s 10nid Jo pu3 eresiuud

quiodiond =
anjeA mau ayl yum |\ aseidal j/

‘(napiip ild = [ildn
(++!sjood1>0=[ 1) Joy
(++1 'sSmoydd1 > | ‘T + moyionld =1 Ul ) 1o}
‘(W)apip (a1 = [Mild1
(++['sjood1>1'0=[ ) 10y
(++1 ‘modond >1:0=1 Ul ) Jo}
N Ag MmoJ 10AId BY1 UI JOU XLTRW By} JO JUSWS3 Yoea apIAIp //

‘dwa) = [moylonid]siseq
{Imod1onid]siseq = [joD10AId]SISEqOD
‘lloolonid]siseqoo = dway  jul
abueyd ay) 108}ya. 0} SAJIPUI SISL]O pue Sised auyy abueyd j/

{((doroep)Adninwr
[Nimoxrond]droenans [f]ild1 = (041
as |9
‘Oarebau(W)Aidninwrioioey = [Nid7
(lootond ==1) 41
(++[!sjpod1>0= ) loy
‘anu 1juod
(0 == (O¥3Z 18b63IBIg)0 L 2redW09°10108)) § |
‘(Guiodionid)apinip-flooiond][ildT = 101084

}
(++1 'smoyd1 > 1 ‘T + moyionld =1 Ul ) 10}
W= :86%:;@62&&
‘((JoroepAdninw
[Nimoxiond]dTioenans [l]iild = [ld
as |9
‘(Oarebau (IN)Aidninw-io1oey = [(][id
(joowond ==1) 41
(++['sjood1>1!0=[ ) 10}
‘anu | juoo
(0 == (0Y3z 1ebau|Big)o | aredwoo 10108)) § |
‘(uiodionid)apiaip-[jooiond][ildT = J1o10ey )
(++1 ‘moylond > 1:0=1 Ul ) IO}
uwin|o9 oisequou areudoidde
By} yum (siseq ayi Jo 1no 1 anow) uwnjod Joaid ay adeidal //
*MOJ yoes wouy ajdinw yey) Jo 10eligns uay) ‘uwnjod Anuapl ue j/
Jo a|dinw e uwn|od JoAld 8y} BXew 0} papasu 10)oe} 8y} dUILLIBIBP //

‘Quiodiond)Aidnnwr[id1 = [Nild1
(++[!sjood1>i0=[ 1) loy
(++1 'smoyd1 > 1 ‘T + moyionld =1 Ul ) 1o}
‘Guiodrond)Aidmnur g = [N
(++['sjood1>1:0=[ ) 10y
(++1 ‘moylond > 1:0=1 jul ) 40}
juawala 10A1d 8y1 Ag moud 1oAId ay) ueyl Jaylo mos yoea Aldinw /7

{
HERERIIN . + [modioaid]siseq)upuiid-inorwalsAs
‘(1818 ||IM . + [loD10A1d]sISeqOD)UpULId N0 WBISAS

}
(T ==[zloup'333) 41

‘++lunoDlonid-333

9/t abed

eneladAl1d7

g/c abed eneladA]ld7




‘(dMwudrewiodj0D
‘(s1seqo2)10109A1ULd S|00 |

' siseqoD Jundno walsAs
‘(s1seq)ioroaalundsjoo ]

(= siseg JundnorwalsAs

‘(N + . STIN upuiid-no walsAs

‘(S)upuud-inowalsAs
}
(T == [glounp333) 41

arels ayl syuud — ndno j/
(s Bus)ereisund  proa o1 gnd

‘ojuinial

N =IO}

'SMOY T = SMOYdT 0}

's]00d1 = S|00d71°0}
‘(siseqo2)Ado2sj00] = SIseqod 0}
‘(siseq)Adoa’s|o0] = siseq 0}
{(d1)Adoa'sjoo] = 4701

‘0)adALdT1mau =019adA1d7

d71uaund ay) Jo Adod e suinal //
()Adoo adA1d1 2 1 |gnd

--s|00d1
{qod = sIseqod
{[ilsiseqod = [ijqoo

(++! ‘ybus'qoo >1:0=1 1l ) Jo}
‘[T — yibua|'siseqod] 1wl mau =qoa[] 1w
‘[T — yibus|'siseqoa]siseqoa = [|09]sIseqod

‘01 =d1

‘(0¥3Z 19bawBig)ppe [f]lildT = [(oy
(++['ybusrfolor>o="1 ) 10}
(++ ‘pbusroy>1:0=1 1l ) 10}
[T - wbusr[o]dTllwbusl d1l:eheiulbig mau = 01 [I[1ebauibig

{
[T - s100d71lld1 = [g - sload]llld1
‘[z - s100d71ld = [joa][1]d )
(++1 'smodd1>1:0=1 1l ) 10}
1SE| 31 YIm SA0WSI 01 UWN|od ay) dems //

d71 9yl WoJj |0d uwnjod sanowal //
(loo u )joD31eRp  PIOA

‘——SMoYd
‘g = siseq
‘liIsiseq = [ilq
(++1'ybusrg>1:0=1 U ) I0}
‘[T — ybuay'siseq] I mau =q[] w

‘[T - yibua|'siseq]siseq = [mol]siseq
:01=d1
‘(oy3z1ebawibig)ppe [f]lild = [((iloy

}

}

9/9 abed

eneladAl1d7

9/g afed

eneladA]ld7




{(666)1x0 WalSAS

‘S@ourew 329y ‘wajqoid 1nduj o3 JupuudinotwaisAs
(4 uondaox3Ja1uIod|INN) Yo 182

{(666)1x0 WalsAS

‘S@ourew 329y ‘wajqoid induj o3 JupuudinotwaisAs
(2 uondaox3gspunogiOINOXapu]) Yo 1ed

‘(666)nxa" WLISAS
‘sjfpAed annebau-uou sasinbai Apuaiing :ios3 Jupuud

N0’ WaISAS
(p uondasxzuawnbiyeba)|) yo 1ea

{(666)Nxe WalsAs
Jupuud

1N0"WaISAS

‘(suonoainp'333

"[eJBaul |[e 10U aJe sanfeA XUre o3

(o uondaoxgrewso4iaquinN) Yo 1ed
‘(666)1xe WalsAS

JupuudinotwalsAs
‘(Jsuonoasp'333

‘S@ourew 328y ‘wajqoid nduj o3

(g uondaox301) Yo 189
‘(666)1x9’WaISAS
Jupuudino waisAs
‘(suonoanp'333

“¥{se1 1oy ybnous abure| Jou xure 110413
(e uondaox3UaWAIZYINSON) Y2 1ed

{(Juondaox3iuawnbiyebsl mau mo 1y 1
(0 > (0y3Z 1963IBIg)0 Laredwod [(ilgrew) 4 1
o +
(Quasorxau
Nwjasred-iabaul)iabaiulbig mau = [hlgrew
}
(++1‘Mo1>1:0=1 Jul ) 10}
(++foo>T'o=[ 1) 10}
‘(s)1eziuaxo ] buns nnenelmau =1
{()surpeassjiqowes = s
{
{(uondaoax3iuawnbiyebs| mau mo ay 1
(0 > (0y¥3Z1969WIB1g)0 Lasedwod [([ivrew) | 1
(on +
(Quaxo1ixau’
Niujasred-1abaiul)iabaiulbig mau = [Nvrew
}
(++1'mo1>10=1 ) 10}
(++[foo>To=[ ) 10}y
=1 Jazjuayo ] bumns n-enel
{()aurpeasajiqawes = s

‘(s)eziuaxo L Buis |an-eaelmau

{()auripeasajiqawes = s
{()auipeasaji4awes = s
{(auipeals-sji4awes = s buns

P

pu—

P

U

P

((uweb 19 "

)lapeays|i4mau )iapeaypaiayng mau = 9|I4swes) Jspeaypalayng
}
A1y
}
JIBUSINN V U] eAer ‘uefeue|4 wouy pauiwialep ainpadold indul //
adAy J1aoel] awes Joy indul speal j/
(grew [J[lsebaruibig ‘view [J[liebaiuibig)ssomenls pioa 2 1gnd
{
(Mg)ppe[Nily = Milwns
(++ ‘pbusrfolv >Tfo=1 ) 10}
(++1 ‘ybusry >1:0=1 1w ) 10}
‘[uibusy [o]v][ybua| vliebaiulbig mau = wns
}
g'aWeo + y'awes = Wnsaweo //
()wnsyab pioa 21 |gnd
{
‘Qwnsiab
{
(666)1x9°'WaISAS
‘$joAed annisod sainbai Ayjeuonouny Jusaiund upuud:
N0’ WaISAS
}
((@)osazsey || (v)osazseuy) 41
{
‘(awreuq ‘g)xurepeal
‘(awreue ‘y)xurenNpeal
}
as |9
(g 'v)saouren LD
(T == [vlound333) 41
‘[lo9][mou]1eba3uIBig mau =g
‘[loo][moulsabayubig mau =V
0 =02
1 =mol
}
salbarens yohked 019z ou sey xurew papndul 8iNs axew 0} SHI3YD //
passed sa|ij 8y} Ul SS2LIBW Sy} YIM Xyewig 9 X J Ue S}onJjsuod //
(swreuq buns ‘sweue Bus 0 w4l )xurewng

‘wns [][l.ebaw)big
-g [I[l1ebaruibig
‘v [[4ebawibig

‘l0d ]

‘Mol i}

Xuyewig sse |9 9

“yrewenel 1iodu |
‘worenel 11odu |
‘cnenel 1iodu |

/2 abed

eAel xurewlg

/T abed eAel xiurewlg

1gnd




¢ asfe} uinial

‘f8ann uinial
(0 == (0y¥3Z"18b8IBIg)0 L Bredwod [[irew) § 1
(++ ‘pbusyfolrew > o= 1) 10}

(++ ‘ybus|rew > 1:0=1 il ) 10}

(rew [I[4aba1uibig)osazsey ueajooq

‘(Pa.nuAsy\y Jundno waisAs
‘($3{Aesrelpuayy Jupuud-nowelsAs
((ub{Aeirelpuayy __zc_a.soémmﬁ
v Jundino waisks
(T-mol=jl) 41
([t - joa]lJg)uud-ino wsyshs
(® « + [ig)undno weisks
(++[:T-100>T0="T 1w ) 1o} )
(++41'MOI>1:0=1 Ul ) Jo}
R Juudino waisAs
H ) JuLdIno weisks
(++100>1:0=1 1 ) Io}
(HAewre}uiBag\)yal = @ 7 A\ 1\ A A W 2 uBun{Aelrelpuayy Juud:
N0’ WaISAS
{
HA JundIno waisAs
(T-mor=j1) 41
([t - j09][]w)und-ino weisAs
e . + [NIv)uudno waisAs
(++iT-100>[0= ) 10y )
(++ ‘Mmo1>1:0=1 1 ) Jo}
G Jundno walsAs
(o Jwndno waisAs
(++1409>1!0=1 1ul ) J0}

Dundino waisAs
Jundno walsAs

‘(HAeirretuiBagy)ysi\ = v
‘({oooH{Aewre}uibag\ss

Xljeuwiq anua ay} Joy poyiaw indino xare| //
(Oxare| pioa o1 |gnd

‘(@)uud-rewioH|0D

(g xure JupuudinorwaisAs
“(V)uud-rewio4|0d
(v Xurew JupuLd-Ino waisAs

Wt
109 + ,Aq . + MO + 9ZIS JO S| Xlyew ay L Jupuudino waisAs

XUJRWIQ 8413Ud 3} 10} poyiaw Indino //

(Omndino pioa 2 1|gnd

{
{(666)1xa WalsAs
‘S@ourew 329y "wajqoid induj o3 Jupuudino waisAs
}
(3 uondaox318)UI0d|INN) Yo yed {
1(666)1x0 WalsAs
‘S@ourew 329y "wajqoid induj o3 JupundinotwaisAs
}
(e uondaox3spunogiOINOXapul) Yo 1ed {
(666)1x9'WalSAS
‘sifpAed annebau-uou sasinbal Apuaning Jou3 Jupund
N0 WaISAS
}
(p uondasx3uawnbiyeha))) yo 1es {
{(666)1xa Walshs
"f6dBaul |re 10U are sanfeA XUl o043 Jupuud
1N0°WAISAS
}
(o uondaox3rewlio4lagquinN) yo 1ed {
(666)1x9’'WaISAS
‘S@ourew x99y ‘wajgoud induj o3 Jupuudino waisAs
}
(g uondsox301) Yo 1eod {
‘(666)uxe WaIsAS
"${se1 1oy ybnouas abue| J0u Xure 11olg Jupuudino waisAs
}
(e uondaox3UBWLITYONSON) Yo 1ed {
( {
‘(uondaox3iuawnbiyebs) mau mo 1y 1
(0> (0y3Z"1963BIg)0 L Bredwod [Nifrew) 4 1
(ow +
(Quasio Laxaur
11wijasted-1abajul)iabaiuibig mau = [Nhrew
}
(++[foo>To=[ ) io}y
(s
)19z1uaxo | buns neanel mau =1 Jaziuayo] buns n-enel
{()auipeasazis = s buis
}
(++1'MoJ>1!0=1 I ) IO}
‘((awreuayly
1apeaya|i4 mau Japeaypalayng mau = 9zIs lapeaypalayng
}

A1y

JIUSINN V U] eAer ‘uefeue|4 wouy paulwialep ainpadsold indul //
Xurew passed ayj ojul swreus|l Ul speal //
(swreuayy bus ‘rew [J[l1ebaiuibig)xureNpeas pioa 9 1 |gnd

¥/ 9bed

eAel xurewlg

v/€ abed eAel xiurewlg




‘1xau SPON3IN

‘T- =Dbelh ul
‘A [I[l1eba1u1B1g
‘T- = bBelx i

x [[[4eBorubig
}
9pONIN SSe |9 9 1|gnd

“yrewenel 1iodu |

T/T abed

enel'apoN3IN




nb3 yseN ay1 1no sud //
Ownd  ur

! aspey uinial

{

IXaU'N = N

‘Pel AN = BelAaN
((A'3N ‘N)Alenb3s) 41 8s |9
‘Pelx'N = belx'IN
(3N ‘N)Xrenb3s)) }1 8s |9
feni uinial
((A'3N ‘N)Alenb3s! 7 (x’3IN ‘N)X[enb3si) 41

(U =iN) e iym
004 = N 9pON3N

juasaid Apealfe si Jred wnuqiinb3 ysenN e Jayiaym sauiwislap //
(3N apoNIN)wasaid  uesjooq

L ani uinial

i os[e) uinial
(0 =i ((M[tIx N)oLaredwod [[T]x) ||
0 =i ((I[o]x'N)oLeredwoo [i][o]x)) 41
(++ 'ybusrfolx > 1:0=1 ) 10}

juasaid Apealfe si x ABayens Ji syoayd J/
(x [[1+eBomw161g ‘N 8poNIN)X[enb3s! uesjooq

L anl) uinial
© 9sfe} uinial
(0 =i ((M[TIAN)oLaredwod [[T]A) ||
0 =i ((IN[0]A'N)o Lasedwoo [1][0]A)) 41
(++ 'pbusrfolA>1:0=1 ) 10y

juasaid Apealfe si A ABayens Ji s308Yd //
(A [IoB23u1Big ‘N 8poNIN)Alenb3s!  uesjooq

{
‘IN = IXaU'H
IXOU'H=H
( 1nu =i XaU'H) @ | Ium
']00J = H SpoN3N

{

++Be ] AXew1saN

‘Be | Axew1siTaN = BelA'aN
}

(T- ==6elA3aN) }1! (

‘++Be ] xxewsImaN

‘Be| xxewsIT3aN = Belx'3IN
}
(T- ==Belx'3N) 4!
ax Jundno waisAs
(¢ == [eloupraa3) 41
(G Jundno walsAs
(0 == [eloup'3aa) 41

(@N)wesaudi) 41

‘uinial
‘0 = BelAaN
‘0 = Belx'aN
(ox JuudnorweisAs
(¢ == [cloupp'aa3) 41
i Jundino waisAs
(0 ==[eloup'333) 4!
‘JN =100l

( nnu ==100l) 41

{(A)dzirewuou = AN
‘(x)azirewsou = x'IN

‘()apoNIN MaU = 3N 9PONIN
‘(wnsA ‘[1]
‘(wnsx ‘[T]
_ {
Y[~ A)ppe’wnsA = wnsA
A = [lolA )
(++‘pbus  A>1i0=1 1w ) 1o} (
Y[l x)ppe wnsx = wnsx
‘1T = [lolx )
(++1ypbua "X >1:0=1 W ) J0}
[pbus|A][zliabaiulbig mau = A [I[J1abawibig
‘[urbus~x][z]1abe1u161g Mau = x [[["ebawbig

‘oy3z1ebawbig = wnsA ‘0Y3Z 18bawbig = wnsx Jabayulbig

juasaid Apeadfe 10U JI 1SITIN 8y} 01 Jred wnugiinba uanib e sppe
(A [[1eBayibig “x [lsabajuibig)ppe  pioa

‘T=0BejAxew 1l 211e1lS
‘T =bBelxxew i 911e1S
Jool  SPONIN
}
isi| wnuqiinb3 ysen //
1SI73N sse |2 o1 |gnd

‘19ba1|big-yrewenel 11odu |

/2 abed

eAel1s17aN

/T abed

eAel1s17aN




)|uunod uiunia

{
OXOU'N = N
{4++181UN0J
}
(nu =iN) @ | Iyw

‘0 = Ja1unoo 1l
‘1001 = N 9poN3IN

1S1| @Y1 ul euqinba Jo Jaqwinu ay) saulwlalap //
Oubus

‘pawou U Ini1al

{(paB)apinip:[i][0]oan = [1][0]pawou *
‘(paB)apinip:[il[T]oan = [1][T]pawiou
‘(I[t]oan)pab-[illofoen = pab )

(++1'ybustloan>1:0=1 1w ) 10}
‘0y3z 1ebayu|big = pab Jabajuibig
‘0Y3Z18bawibig = wns Jabaju|big
‘[yibuay[p]oan][yibua|-oanliabaiulbig mau = pawuou [J[lsebayulbig

}
10398/ Ajjiqeqoud e si )i yeyy 0s 10J99A 8U) SazijewJou //
(O0oan 1aba1ubig)azifewsou [][l1abaiuibig

{

‘ybusj uInia i
elqgiINba awalxa Jo Jaquinu suinial //

{
‘(saN)wud rewioH|00

{

IXaU'N = N

¢ ann = [Berx N][BeLxxew1sIT3IN + BelA N]ps1osuuod
¢ ann = [Bel xxews1aN + Bel A'N][Belx N]paioauuod

“ul . =[6 + ybusr[olA'N + 59_@_._o_x.z____mm_/,_H

(IMTIAN +
Wi .+ [MI0JAN) = [6 + [+ wbusr[o]x'NI[saN
as |9
WT ., =[6 + [+ pbusy[o]x'N][lsan
(0 == (@NO 1ebafig)olaredwod [TIAN) 41 8s |9
0 . =16 + [+ ybusr[olx'N][san
(0 == (0¥3Z 1963161g)0  Bredwod [[0JAN) 41 )
(++ ‘pbuslfolAN>Tt0=[ 3 ) 10}
) . = [8 + ybuay[o]x'N][1]saN
i __+Q+mm§_zv+_; __T_T emcm_._o_x.zﬁmuz
_:

HEAY " = [9 + yibual TolxNIlIsaN
Wl . =[S + ybuay[olx NI mm__/._ﬁ

([NITIXN + .+ [Mlolx'N) =[5 + lsaN

T W=
(0 == (@NO 1eb3uBig)o Laredwod [[TIX'N) 41 s |2
%0 . =[5+ lsaN

(0 == (0¥3Z 19b63IBIg)o L Bredwod [0]X'N) 4 1

(++ ‘pbusiolxN > [0 =1 ) 10}
) « = [PIl]saN
A wt (T +BelXN) +.} W=

(T +) + J
HO=E] W=
)

(++1 ‘ybus > 1:0=1 1w
(e =i [eJounp'333) 41
‘(euqiinba swa.ixa .« + Ybusp)upunidno walsAs

{[Beixxew1saN + bel AxewisraN][BeLAxew saN +
Be] xxewisiqaN] uesjooq mau = pa1oauuod [][] uesjooq
‘ot +
ubua|[o]A'N + wibuar[o]x N][uibus|]buins mau = saN [J[Ibums
001 = N

004 = N @poN3N
‘Qwibus| = yibus| !
T = 18Junod Ul

¥/ 9bed

eAel1s17aN

v/c abed eAel1sI7aN




((Moan)Admnwr[[irew)ppe-[ijjos = [i]jos

}

(++[‘ybusyorew >0 =1 1 ) 10}y (1se] sy i ‘moy [lieBaruibignsajewsisb i o 11e1s 21 |gnd
(++ 'ybusyrew > 1:0=1 i ) 104
‘0oy3z1ebauibig = [1]jos {
(++ ‘'yrbusrjos > 1:0=1 Wi ) 10} Xapul_Xew u in1a 1
[pbusrew]iabaiu|big mau = |0s [Juebaju|big ) ( {
(0an [J1ebayubig ‘I = Xapul xew
‘rew [][l4ebaiu|big)io10aasawi xurew [l1abaiuibig 2 11e 1S ‘[Imou = xew
}
{ (0 < (xew)oaredwod[ilmos) 41
‘xopunsabue| uinia i }
(++19seI=> 1498 =1 Jul ) 10}
{ — = Xapul xew 1ul
‘I = xapunsable| ‘0y3z18bayulbig = xew 1abajubig
uwnjoo]ijxurew = 1sabue| }
} (1se] 1w RS ITR V] ‘mou [l1abayulbig)sabireiab jul 2 11e31S 21 |gnd
(0 < (3sabure))oaredwod [uwnjod]ilxurew) 4 1
(++ ‘pbusxuyew >1:0=1 1l ) i0} _ {
Xapul_Xew u in1a 1
‘- = xapunsabie| i {
‘oy3z 1ebaibig = 1sabie| 1abaiuibig 4+
} {
(uwnjoo i ‘xurew [][J1ebayubig)joDisabreiab i 9 11e1s ‘I = Xapul” xew
( ‘Osqge’[ilmos = xew }
‘Xew uinial (0 =j ()daoxa)o aredwoo [ijmos 3%
0 < (xew)o | aredwoo:()sge:[ijmol) } 1
{ }
{ (1se]=>1) 3 | Iyw
I = xew
‘l[tlrew = usp xew ‘T-uunial
‘[Nlolrew = wnu xew (0 == (1de@oxa)o aredwod xew) } 1
} ‘I = Xapul” xew
((0 < (yoy)oLaredwooybu)) 41 ‘[Imos = xew
{([lolrew)Ajdninw-uap™ xew = ybu 1abaju|big ++
{lTlrew)Adninw-wnu™xew = ya| 1obaju|big ) (1se| > 1 7% 0 == (1daoxa)o ] aredwod [i]mol) 8 | Iyw
asiy =1l
(++1 ‘yibuspforew > 1T =1 W ) 10} ‘T- = Xapul xew i
‘1daoxa = xew Jabayu|big
‘[ol[Tlrew = uap~xew Jabaju|big }
‘[ollolrew = wnu™xew 1aba3uibig (1daoxa J1abayuibig
‘0=xew 1l 1se| Ul BT V] ‘mou [l1ebajulbig)sqyisebiemah ul o9 11e1s 91 |gnd
}
(rew [][l4sebauibig)isabieiab 1l 2 131e1S {
( ‘T-uJinial
IXapul ulw ulinial ‘luinial
{ (yoreas == [1]10108A) } |
{ (++1 ‘ypbusioPeA > 10 =1 I ) J0}
‘I = Xapul~ uiw }
‘[mos = ulw ) (yoteas i ‘10199A [] 1 )dnyool ul o 11els 91 |gnd )
(0 > (uw)o aredwod ijmol) 1 uoneuawsa|dwi |-333 ul 8sn 1o} S|00} //
} s|joo] sse |9 o1 |qnd
(++19se| =>19sIy =1 Ul ) 40}
‘T- = Xapul uiw  ul 'yreweael 11odu |
‘0y3z 1ebaulbig = uiw Jabayuibig
iz abed enelsjoo| v/T abed enel'sjoo|




(aNo 1ebauibig)Aidnuryy = [1l100eA
(++!1 ‘ysbuslioPaA > 1:0=1 Ul ) 1o}

(I1y 1eB31u161g *10308A [J19681U|61G)10108AI  PIOA O 11R 1S

(o + I4)10633U161g MBU = [IJ4o108A
(++!1 ‘ysbualioPaA > 1:0=1 Ul ) o}
Iy ‘10109A [l19681u|61g)10109A|I  PIOA D 11B 1S
‘oyuinial

‘(0y3Z 1969u161g)ppe-[1Jwoly = [1Jo)
(++ ‘ybusror>1:0=1 u ) 1o}

‘{[pbua) wouliabauibig mau = 0} [J4abayu|big
(wouy [J4ebayubig)Adoo [J1abaiulbig o2 11e 1S
‘oyuinial
‘(oy3z196awiBig)ppe[(iwouy = [N[ijor

(++['yibuarfolor > [0 =1 1ul ) 10}
(++ 'pbusroy>1:0=1 il ) 104

‘[wbuay [o]won][yibus| wolliabaiubig mau = 0} [[[liebaubig

(wouy [I[l1ebarbig)Adoo [I[J4ebaiulbig 2 1 1e 1S

‘ojuunial
[N0woxy = [N[]o

(++ 'wbusrfoloy > o= 3ur ) 10y
(++ ‘pbusroy>1:0=1 3l ) 10}

‘[wbuay [o]wony][yibus|'woly] uesjooq mau =01 [][] uesjooq
(wouy [l uesjooq )Adoo ][] uesjooq o 11e1S
‘opuinial
‘[Nwoyy = oy
(++1 ‘yibusror>1:0=1 1 ) o}
‘[wbusjwoy] I mau =01[] wi
(wouy ] i )Adoa[] wr 211018
N Jupund-no walsAs

. + [1I10198A)1Ud N0’ WeISAS
(++1 ‘ypbudioPeA > 10 =1 I ) J0}

) undIno waisAs
(Joran [l )ioaawud ploa 911e31s o1 |gnd
‘([T][thurensuod + 3\ . + [O][hurensuod)upuud-ino-waisAs
(++! ‘ysbua|urensuod > 1:0=1 3l ) 10}
(yurensuoo [][] uesjooq )ioaawud ploa 911e31s o1 |gnd
G upuud-no weisAs
. + [1I10108A)UNd N0’ WaISAS
(++1 ‘yibusliooeA > 1:0=1 Ul ) 10}
) uudIno waisAs

(101001 [l12bayubig)iodanuud pioAa 2 11e1s 91 |gnd

‘losuinial

(([Moam)Aidmnwr[[rew)ppe-[ijjos = [jos
(++[ {ybusrrew > o= 1w ) 10}

(++ ‘ybusyjos >1:0=1 11 ) o}
‘0y3Z 19baIbIg = [l]los
(++1 ‘yppbusrjos >1:0=1 1wl ) 10}
‘[wbua| [plrew]iabaiubig mau = |os [1abau|big

(yew [][1o6a3u161g
‘09 [l1ebaulbig)xureNsawi ] 103109A [iabayulbig 2 11e1s

‘losuinial

-

¥/ 9bed

enelsjoo|

/¢ abed

enel'sjoo|






